UGC NET 2021 Forensic Science

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifds] @ meR U gosll & 3= difsme @

forgoiferRaa vl fdpil Rrafdencrn 3 31 - 31l ferll 3 (T-u) dRRA reAa™] oI YfeIord scol 3R 3EATUd] dal eATTUPI3i @ ourd
@I YFdd ol 3 faeafdencry i et sieamaml i e 1600 3 wrvil 3 1 o1 sifws! @ R R Yol 1-5 ab D IR S &

31eMuehl oI faeRIar d§cot ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerer areemuast B gferoradr (% )sremuds itz sre=mftrpsit bt gfererdar
A
B
o
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

ferer=r-C 3 sremaed] I et A, fawR-D siiz faeRr-A 3 aAfdafera su A sreanftopisii & aget e @1 gferera 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers




Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifdst @ 3R U gesll @ 3a= difsme @

forrarferRaa 1rvfl fp1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uw) PRIz srearuwm] @1 gferord sl 3R [eATUD] qell 3reATfiIsi & 3rofurd
Dl yqd @il 8 faeafienert 3 qe sreamael & i 1600 & ARl # 621 3R sifds! @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt srezmaepl &b s SiiR farerI-A aen faerRr-B 3 wifdafera su A sreamuen] 6t iz o &4 fopdon siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]

1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 U o1 sifost & smem uz gosil @ 3ar i :

forarferRaa rvfl fp1 feraferenert 3 sremer - 3rcmT eIl 3 (T-uws) PRIz srearuwm] @1 gfererd dcel 3R [eATUD] del 3reATfdIsii & 3ro[urd
Dl yqd @il 8 faeafdener 3 @et el &l in 1600 & ARl 3 621 3R Sifps] @ MR R Yool 1-5 dd D IR S :



31EATUD] DI fARIaR dear :

frerr sreemaast Y yfreraar (% )sieamu st sieenfiriaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerRr-F 3 sreanftrastsii b Jizean siik fawRr-C 3 sieamaat bl Jizen @ dka fovdetr siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft # fSu 51U sifws] @ smemR uz gesll @ 3a= difsme @

foreatferRaa 1rufl et feraferenert 3 sremer - sremT foreril 3 (T-uw) PRia sreamu®! @1 gfererd dcel 3R s[eATUD] eIl eATfieIsii & ofurd
@l yFgd ol 3 feeafdencrn 3 @et sieamaml &f e 1600 3 Arvil 3 R oR) sifds! @ R R Yool 1-5 b D IR S &

31EATUD] DI fARIaR dear :

fRrerr reemuast 1 yfereraan (% )sieama st sieenfRriaii Bt g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?



forafiencrr 3 sreamaamt &t aer Iz Rl 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifds] @ smeR U gesll @ 3az difsme @

forrarferRaa 1rufl fp=1l feraferenert 3 srerer - 3rcrT eIl 3 (T-uw) PRixa srearuwm] @1 gfererd s 3R [eATUD] el 3reATfieIsii & sro[urd
@l yqd @il 8 faeafdener 3 @et sreamael & i 1600 & ARl & 621 3R sifos! @ MR R Yool 1-5 b D IR S :

31eAUD] DI fASRIaR dear :
Rrerr preamuast &t yfererar (% )siearaw aiiz sl S gt
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 srenftrepisii &bl Fizen @ gfererd o siopurd fRrerr-D 3 sreamaosl &t e o1 Reaen 3 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4. 5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]



Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERTUD HRI UIS D Yl & Sikrel Ydfer & ufaderoefierar sterar sia=rar oot fop21 su 3 Siren strar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fRider urgeicpa [Option ID = 14521]

Instructional variety/aifdiferes fafderar [Option ID = 14522]

Comprehension/zmtst [Option ID = 14523]

Procedural knowledge/gfégziicares siret [Option ID = 14524]

A WN -

Correct Answer :-

e Thinking curriculum/Rider urgerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

R IRDR D 181 HGIeRI gRI Fanferd wa.siLal. 2. (MOOCs) ygrot @20l 3q =i (SWAYAM) sia & 1= ol dottol (RBsimsfoier) @ fere
fopaer agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]

1. 2 Quadrants/2 agsfa [Option ID = 14525]

2. 4 Quadrants/4 aqgefe [Option ID = 14526]

3. 6 Quadrants/6 aqgefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il Jf Dol fdu sre 3 ¢
Dl - | : R Ef sraren @ Fu A 4 ad 6l 39 D arerd I fpmefia Fafar & Wil acd U Fere o= 3id 3

@l - |l : Jaensii & yfd Aafe vw dicid cRIdaR €161 ofdl SdI, dl 3cYRUI TR DaHsIR Bldl 3 3R 3fod 3 sdell BR Sidr 3 &b el I Yol:
Ieyfea ordl fopan s Arar 3R a6 guizu A fagsy 8 smar 3

SURITb Dol D 3Iclid H, ofld U s1w iyl 3 A Jt IR BI TwRIel HIferw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/@perm | 3iiz |l Sieit 2@t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sleta & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/werwr | 3@t 8, fbog @eret |l siera & [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/@emt | swer 8, fboq @eret |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iiz | 2leif 38t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

Rxet -1 Rxeht -l

(aif¥eea @1 segfor el deq) (Ffer gor)

A. Aot |, siafoifda gfer
B. 3rIdet Il. orifaftrs Fgfa




C. Tofiler wioret (i Roc) Ill. goerep Fggfer

D. sircatopsia IV. nBre Fgfer
il feu o1u faasedl 3 A A8 3R gforo :

[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll,C-1,D- Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1I,C-1V, D - Ill [Option ID = 14535]
A-1,B -1V, C-1ll, D - [Option ID = 14536]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIGERAIET 3893l @ fé1e IHSATGIcAD &I 3 ol IL9AT I HdHIferee oo strer 3 :

A. Jcaiwor

B. e forerizur e

C. 3ast

D. remefar

E. sior

off fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/aaa A, B, C

[Option ID = 14537]

2. B, Cand D only/@ae B, C, D
[Option ID = 14538]

3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A BandConly/@ac A, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

onter @ SIRIGl SId &3 MATRAHD i1 difeads zffedlvil A g 3 3z YeoiRr ael uz earer dfoga wd 3 dal A forsoifeiRaa 3 A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/am3tars [Option ID = 14541]

2. Ethnomethodology/gsuferfdrsirer [Option ID = 14542]

3. Constructionism/2izdaeicamdar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-

e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:



fop2t uf¥acen & Jder 3 BRI B PR oNer 3 Riftoer UGeRN, 31¢RIeT ARl FeureiiRI Siiz SRRl frcRIRil & JiRilsiel Bt wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/fggster [Option ID = 14545]

Content analysis/fawer Jmsf 3wt [Option ID = 14546]
Corpus/@mrda [Option ID = 14547]

Mediation/siezrzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/feprstior [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasyur & dogp uglt @ fere wedl @ Adiaw &I usare @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI APIbd formrct

B. rside @ ka1 &l svren a3

C. ore @1 Arrwd (T) gra o3

D. gA® oIcid @ AR1wd @ (T) D ol A Renfra o3

il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

1
2. ,
3.

4. B,C,

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary e .

a test which is given to a group of respondents
approach
B.
Consensus |Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

et -1 et -1l
A. arelRes ||, sicIe1-31cTe1 AGT &I I3 @) v ure A fashha s sirar 3
efcmroT RRY IacIansil & s ot & sirar 3
B. srdaara
Il. acet taral @l faolR1a fosan S
dcel e uR SIIeI 3




C. 3¢ freaduvr |l 3mRIEE siiR sreRId) et 91ftp Afda o sicl &l gJufiasur
eftcmIur (bI IGTHUAT D IMIEMR UR TRIfold

D. it IV. ferae 3 onfdrer w0t D fere gofl 31 ISt DI FeAidol DI D
CatreTr fere forutirest o1 toter

il 3w o1 el 3 A At I gfom ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-lILB-1,C-1,D-IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlbB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofi <1 eror Ru sre 3 :

werd - | : fgamenst Fizean yprredt o1 smens 2 3

@l - |l : fgsmemst eI, gorIc Siis @ Aol &l 3ldr & RIarT saa o5 former bl Az &
JURITP DYoll B 3l H, ofll [Su s1u fadmeul 3 A W8 3= @1 T=I6l HifSte ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/@emwt | aiiz |l Sleil A 8 [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@erwt | 8ii2 |l Gleil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq weret || sRicr 8 [Option ID = 14559]
4. Statement | is false but Statement |l is true/wesel | sRIcI 8 , fboq el |l 3=r & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1 Siail 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

ToRIdl DI AHIET6I Dol D e v e D sfiar 31ferp A sifere seiluanf¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 2iuur a1 [Option ID = 14561]

. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
. Risk communication/sif3asr 2iquur a1 [Option ID = 14563]

. Personal communication/dfepe 2iuur a1 [Option ID = 14564]

A wWw N -

Correct Answer :-
e Vertical communication/3eafer 2iuur @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:



forgatferRaa 3 A fopadbl usdrel aiftrs AYWUT BI9rT & HU 3 DI Sl 3

A. M@MEIDB HIHT BT AT

B. smoyfgar

C. bIsd® @ oicdl DI Yraeist

D. =i &l 9 ot

E. FdioRIca® 91t &1 GRIBT

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, B and C only/dact A, B 3iiz C [Option ID = 14565]
. B, Cand D only/daea B, C siiz D [Option ID = 14566]
. C, D andE only/a3ae C, D siiz E [Option ID = 14567]
. B, Cand E only/aac B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

@erel - | | ADID UIdI, 3D HIUT DT MER BXcdl 3

el - |l : Sr-aifRies JAd>dl & sraet e sref Jxar &
SWRIFP Pl @ 3Mrelld i, ofld 3w s1e Ripedl 3 A A8l Iar @I M6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14569]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14570]
Statement | is true but Statement Il is false/erme1 | A 8 , o @eret |l sRir & [Option ID = 14571]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14572]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/epr | 3l |l Gleil 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AT &t YR B A8l G b usare o3 ©

A. 333 e

B. Fisirera 9jac

C. sru9ru gjacn

D. wwa ¥is gzaent

oA Ry s1e Riecdl # A & a2 goi

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

Correct Answer :-
e A, B, C, D [Option ID = 14573]



15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

(3ot 9)fdriT) (faroramd)

A. aiffdes |. Iiguor Faof

B. Fuof farsier Il. sl & dta Fguor
C. srelgza Ill. Fid>di &I e

D. Fiofers IV. sreif 2 ddfeEa

il fou s1e frpeul 3 ¥ A8 IR gforw ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - lll [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1Il,C-1l, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIayd i 3HICH Dlol-AT 3D BPI ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urt Y @I a1 31611 3 3R Z & uri X oI @I 3ell 3 A il & ur Alafera su A 613 Z, Y sk X @ urd a@gier: fpaol 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A W N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

TP BICI A v AP @l [$¥rd gu @iddr of @al, ds A arar &l 9¢l @I 11 3 3 Alep A oldar oI g fyear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sicfisir [Option ID = 14589]

Cousin/adRr1 a8 (pfeter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

AW N =

Correct Answer :-
e Nephew/sicftsr [Option ID = 14589]



19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@l - | : b Bieic # el Slar a1 &l frere &I 33, de Ht g A 5° el 96 Sl 3

el - | : afd fiere sl @t &t Jgzat v & Rrerfer 3 3mE) agont 9s wcdl 3 Al el Iyt 64 Bioic @G v, g A ficith
SWRITP Dol D 3MIelld , ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 31 & [Option ID = 14593]

2. Both Statement | and Statement Il are false/a@emt | 3ii2 |l Gleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@ermer | 3 @ , fboq et |l spRier & [Option ID = 14595]
4. Statement | is false but Statement |l is true/mepol | srRI=I € , fboq el || A= & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/epr | aiz |l Gleil 21 & [Option ID = 14593]

20) Consider the following statements:

A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is 18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:

frafeRad siftmy | faar &1

A. U@ gR H 1 718 46% DI ¢, dF aR H &1 715 10%, 20% 3R 25% Fel & s 8

B. U HIFTSd @l 20% @1 g1 W 14500 % H &4l [l &, Hislgd &l AFld Jod 18225 % &
D. e 81, g Tea &1 L8 e 28% ©

el o e faeeal & 9 wEl I T :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/dsaet A aiiz B [Option ID = 14597]

2. Band C only/daer B siiz C [Option ID = 14598]

3. Aand C only/@aet A siiz C [Option ID = 14599]

4. Aonly/dact A [Option ID = 14600]

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgatferiRaa 3 A Pdlol-AT AD S 3 Sl aftb @ faeardl siiz ufxiFeferl @ dia JAder oI =Ib ddar

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/amefdics &s daqem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smefdica vs aifdoa (uRRerfesio) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/simejdicar s ssaiifeRial (arstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smefdics esd¥gfSeret (Yfiipr) [Option ID = 14604]

A w N -

Correct Answer :-
e Argumentum and Baculum (force)/smjdicar 6s daetat (91fep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can



be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true

D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRRielt oot i Al "o e Aqacrar oifl 3 srica 3, i forFerfeRaa 3 2 fba1 @ o1 A8} Alen ST ADAr &
A. "9t G Aqern ' 3RTea &

B. "©® Wc Adcrdr & AcA 8

C. "l A6 FAcIa " Aca 3

D. "I A Hacrar oidl &' Aea &

ofia 3w a1 el 3 A A& a2 ol :

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. Aand D only/@aet A siiz D [Option ID = 14605]
. A and B only/dact A siiz B [Option ID = 14606]

. B and C only/dact B siiz C [Option ID = 14607]
. Cand D only/d@aet C siiz D [Option ID = 14608]

A w N =

Correct Answer :-
® Aand D only/aqet A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forraiferRaa wler-A1 e AdaraRT @ PR AR YBR B Jdl U A YIgd okl 3 :
it carardt sircar-farardt 8 3

sirea-frar Af3a o of cafes enffas ordl siar

sfere oFf oft enfifes cafep smurdt ol drar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - I

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]
Correct Answer :-
o AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

St sfogal &1 el A ucrelf @ aR 3 SRl i ol & sfogal o sif¥dea genfora fown sitar & forsot 31 3 v Gt ¢
[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]



Anumana Pramana/ sigj#tel ysmt g1 [Option ID = 14613]
Sabda pramana/erss ygmor grer [Option ID = 14614]
Arthapatti Pramana/sferfufer grr [Option ID = 14615]
Upamana Pramana/3usirer ggmor gt [Option ID = 14616]

A W N -

Correct Answer :-
® Anumana Pramana/sfojerer gamur g1 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel D P31 Fasu DI 316 il Dl ASRIAT A Yrd ol s Sirar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/ygigr [Option ID = 14617]

2. Inference/smmet [Option ID = 14618]

3. Word-testimony/grsg ggmr [Option ID = 14619]

4. Comparison/3usiret [Option ID = 14620]

Correct Answer :-
e Perception/yeiet [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTcA3R o der i v gifeitre smfter Rrea &t fidruarsit 3 frafiRaa enfirer A 3

A. R $caBd - GRITDI @ BRI D S AYWT i srggafer Sar 3

B. 3318t gderel - YRIeT 3 38 Qiojmel 3R siivst @ 1w sidf¥es Jeist (312 © war) ot 3irdco Siiz arat At 3arsAT WR 3iist &t Yol gt
q $iSRUT

C. Jarerol FHsIcTon - ufefRr 3arsAl (so1ye a 3n3eyc 3arsA) I forifeld wen a ufdir Sarsil @ fére gRITPT sgfR1ell ®I HHIcTol

D. scvole uga - $eolc U= AAi D RRI Aud ygrel wel

il fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/dact B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet




Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et | e -l
(fera=zoT) (Suged awmolildl us)
A. Siagdic Jollol @ ferg ciods ferell PR acs arss |
dd UT ST SIQ -
B.Rﬁtm@@'@ﬁm@'éﬁtﬁmﬁiﬁmam"- PP
(I IR ol dIcl BRICT
C. sceolc WR giifdic wd widie dol arct FRISIST ®I
Ill. war.él.uaruet.
D. &1 AfedRR Sl YRIBIPD! Bl $colc uR Sfarygic V. < ke

Bz g1 JAIerGil Dl YaRIA/S¥ ol D A Folidl 31

il fou a1e fypeul 3 A A IR gfom :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-1IL,B-1V,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1IV,C-1l,D-1ll

[Option ID = 14626]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-1ll,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

FN¥ST BARKE @ Ted @ i Holifpda R Rasd @ waf¥ea difse:

A. dtdtd

B. f1.3L. - 3o

C.s13

il f3u a1 fraseul 9 2 W& 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A w N =

Correct Answer :-
e C, B, A[Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

oflar S1 averet feu s1e 3 ¢



@erel - | @ v sifaefest Rivear aftdzcar @l forafoqa @ear 3, 3iik AR 3fik YRR AR DI Mol BT &
@l - |l : v simfesr Rizcar $edic ValA Yglol @l &

SWRIFP Pcll D 3MIelld #, ofld 3w 31w el 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 3er & [Option ID = 14633]

Both Statement | and Statement Il are false/@sermr | 3iiz || Sraif sRicr & [Option ID = 14634]
Statement | is true but Statement Il is false/@emel | a1 @ , fpoq @eret |l sRIr & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRicI & , fboqg et || A= & [Option ID = 14636]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?
forgatifepa 31 A Dol WY YIS, (et Yok $ecxwA) aced & Sl ag famedl 3 A v @I golol A YT o= sirar

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
Scroll bar/¥®fet @z [Option ID = 14637]

Push button/ger acat [Option ID = 14638]

Progress bar/q@)a1 arz [Option ID = 14639]

Radio button/3f:i scat [Option ID = 14640]

A W N -

Correct Answer :-
® Scroll bar/¥®fet @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaa 3 3 Dlol-AT ABT URT Jorell fAfpUT Ysiiae! @5 BRI o1&l aXr & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demsiian [Option ID = 14642]

3. Ocular damage/aiq sifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/carorcft ofter [Option ID = 14641]

32) Match List | with List Il

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
STl YgHl BT oot 31801 / RN
A. ABCIGIP PRD |. argsiidt sfiamg cr1 feafea o srufdre

B.sﬂmmmmﬁ".m, R errqail @ AP

Brafdrse
;_;ﬁsﬁa% 1. Sfiaroy, yshtary (Qdisien) ik scf
D. stet 3 getorofter IV. Stet 3 gerorofier arsee 3R Bizwe ddrd scnfe

ST fored RARIST bt arfer g e 3



Iaﬂﬁi%t!miﬁaa—cﬁ ﬁﬁaﬁmgﬂ%{q:

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1

[Option ID = 14645]
2. A-IL,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-UL,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-1l,D-1I

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il S werel fdu sre 3 ¢

Dol - | : afd:3a &bt spiforn fuarpar # gfy ssdiaur o1 ufyvma 3

@l - || : fRensdiavr 3 Siary oI geI B2 olis¢e Pl olisglslol 311 3 JUaR[ @ &
SWRITP Pl @ 3MIelld 3, ofld 3w s1u Rl 3 A A8l IR I a6t HifSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/erer | 3iiz || Sloil 31t & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l Giali sieia & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emr | 31t 8, fpoq et |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | sci @ , fpog et |l 2@t & [Option ID = 14652]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz | cleif 2t & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

weTdol U TS g 3 fSrImT 3uriieT 3ruafdrse Sier A aRIr 9Ly @3l 3 v sirar 3:
A. sftfa forcifda o1R1 ucrell @I scrol 3

B. 31ig Sifadbkr o1 Blas @ fore

C. e itz ot (3fis1) @t et A

D. St @ srzeril wolear I serol 3

oA R s1e Riescdl # A & a2 o ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, B and C only/dact A, B siiz C [Option ID = 14653]
2. B, Cand D only/@aa B, C siiz D [Option ID = 14654]
3. A, Band D only/a@aet A, B siiz D [Option ID = 14655]
4. A, B, Cand D/A, B, C alix D [Option ID = 14656]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 14653]

35) Match List | with List Il




List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl, Il. Halons
C. CoF4Cly Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

ret -1 et -l
sirsilel gifsa ucref Sie

A. C3HF7 I. HCFC
B. C2FH;3Cl2 Il. 3clica
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

i) feu oru famedl 3 A A8 3R gforu :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B -1, C-1I, D - IV [Option ID = 14657]
2. A-1l,B-1,C-1V, D - Il [Option ID = 14658]
3. A-1I,B-1V, C-1ll, D - | [Option ID = 14659]
4. A-1V,B-1l,C-1,D - Il [Option ID = 14660]

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Soa 118 Jzereil & wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/dfer [Option ID = 14662]

3. USA/guae [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-
e |India/ema [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgsifeiRaa Y So1d> 3106l A BITHATGRIR afded Hifsre

A. BIcter sirRIeT

B. JscR meI

C. Frar wrlge (Rrorcar)

D. wirste Alston (Cetror)

E. gs B¥a

ofid fou a1 el 3 2 A8t ST gt ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

B, D [Option ID = 14665]
A, D [Option ID = 14666]
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

A W N -

Correct Answer :-
e C,E, A B, D[Option ID = 14665]



38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forrarferRaa & A1 @l A Aifafere forpr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>qet A siiz B [Option ID = 14669]
C and D only/@aet C iz D [Option ID = 14670]
A and C only/a@act A siiz C [Option ID = 14671]
D and E only/@aet D iz E [Option ID = 14672]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft I Ferruen o Zoa & e g5 3 ?

A. Zor 3 Ica fren 3 sigpRienel 3R stayarieil @ a@rar Sl

B. fareafdemcril f318ir @ eIl ®I WoarIal, forerfzur siiz Sxasimar

C. Tor 3 Ica fren as uga ! dGTel

D. frafdencril siiz Bicisil @ Mocloll BT [T woll

E. 3@ qen Isa IRERI SR Iaa fOren siffener el & dia dstayul ot & %y 3 Aar Ygrel a6l
ofid fou a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/d@act A, C 3iiz E [Option ID = 14673]
A, B and C only/@ac A, B siiz C [Option ID = 14674]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 14675]
B, D and E only/d>aet B, D siiz E [Option ID = 14676]

A w N =

Correct Answer :-
e A, CandE only/aact A, C siiz E [Option ID = 14673]

40) Match List | with List I

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [Il. Promotes research in History

C. ICPR [lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:




et -l oot 3 -1l A Fgafera Hifsie :

xet -1 ot -l

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR 1. sfererRa 3 siofRienet I aGlol

C. ICPR I, aapotichl {3181 <l SJUTaTr DI SGIaT Soll
D. ICSSR IV. srnfSie forsimell 3 siofRiens o aGiell

il f3u s1e frseul 3 ¥ A IR o ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D -1V [Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 s1Q srerior @) ue 3R ofid feu s1w yesll B 3az S ¢

ARTSIP afdpR ud a3 - AR s@emrn 3 Sit Jregul Sor J fafeer wwul 3 siRdaraare snfffe, ARnkee, IEEfae ik Aroiie - Ao
ofirl & fafdeer uscrsil @1 Adate B! G RV T $AD Aca D 1T W gU; AT 9165, Iol AH! Sif fefap, ATMIPE iz AFDmitie wu A
afdvapa A3El ur &A1 DRA D 3 3l AT & A e AP WU A @Bl cllsll Bl Jorchl Rrerfer A ars? forpIcal @I BRI B! ard dg iR
&A161 DIGA D31 3 BiA D AAST MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 96 gu WU I RISl I &alol gra @2 @ 3 51
9re¢ bl Ieufe, araa i Pz awolidl acard 3R snffe gerizasi @ e 3R - NP JATS 3 AHIRID Dl D Joeld FasU DI
Qol3aeIRuII Jollel B U YARI DI Yoidfa ddl 3 3creur o fere ufker aenfie fravser & v gefisya aidl yfigam o1 sepa @2 61 8 Sil
gAfe1 3Y a1 3 Tilfs dal cid FIRT Bt RASEIS, TGl FYARTT i BBl AT A i sear & sifcifaferi urfl s & 2 Garaeu oY
el AHIRID FIPBI BT 3G 3l Wl 3 R A RI D i 3 fafdioot U 3 el S 3 "ot SienRie s, ‘syarfl’, ‘seirdl 39s’, "vba
siftrira’ affaa A oR AP AI=sH & gy D Ade I Ao afdcor 3 wRI a6 Rl 3 AT <1 Asvayel #E Feuadre kR & F gaa
TRIT AEMRYN 3 ok 9Nfdret dlar 3 Sl feadwur grRI séidl, 3RITeIdl, due scfe @ SIA 3iferd USURPId BHA® D dad oldl Yglol b= s
ADAl GIRI 3R 3ferp HAsTayvl, fb o= 31 sraerRun @I PRIl uf¥ggRn A Rt caaren (Afcer) @ sifefym fraiiya fepan sit aden ? o= a8
IR DI TR A i1 B e s A, T Wl Rafel PR agizad el &6il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 IR, 3RIATGIAL, ddol sDcl 3R HTATSl arcl a2 Fei R fdRT krauvr 3 *ue »4 A &ame $ar sk 8

The concept of social exclusion is multidimensional because of:

ATHAISID SfECDR Dl FTEMRUI b BRUI A Jg3rRIeEd 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/fafeer el v dfga [Option ID = 14681]

variations in deprivations/ddon @ ¥a%u 3 fdeerar [Option ID = 14682]

the prevalent notion about social outsiders/menfSics =u 3 @g3t clsll @ ar 3 yafera sraemzon [Option ID = 14683]
social statuses across nations/2igui Ser 3 Jmnfsre Refer [Option ID = 14684]

A W N -

Correct Answer :-
e multiple groups to focus on/fafeer wel w dfga [Option ID = 14681]



2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 s1Q srerior @) ue 3 ofid f3u s1w yesll B 3az S ¢

ARSI afdepR ud a3 - ARIEH s@emrn 3 Sit Jregut Sor d fafeer wwul 3 siRdaraare snffe, ARnkee, IEfTe i Aroiae - Ao
PRI @ fafiiosr usgsil ®I e Dot Bl RV 3 3D Acd D fore el gu; A6 oI, Iol APl sl 3nfdfep, ARG iR ARGiae wua 3a
afdvapda AEl ur &A1l DIRA D 3 3l AT & Az 966 ARMISID WU A 1Bl cllvll Dl Jorchl RFrerfer A ars? orpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AAST NRRIT D cidl 3 JRT WU 3gd A6 aLrRVI il RIU 3 96 gu WU 3 RIgTsll I &ilol gra @2 3 3 53
9rec bl 3eufe, araa 3 Pz ddolidl gcard 3 snffe Yerizaei @ e 3R - ENBID JATS 3 AHIRID Dl D Joeld Fa3U DI
ol3IaeIRUII Jollol B TP YARI DI Yoidfd drdl & 3cr1eu1 o fere ufkpr Ao firavser & v geflsyd aidl Y o1 3epa 2 61 & Sil
safere A 261 8 aRiifes asi cid JarRT Bl AASEIEL, TGl AYARIT 3R BeANIGHEI IS A WS seal & sifafaffril uril s 38 3 wasaeu oY
Her ARG FIS BT IGd 3l 61 3 312 A gl D dia 3 fAfdioot u 3 ool sa 3; ‘ofa eNfD slia’, ‘sigaril’, ‘seindl J3E’, ‘T
siftrra’ affaa A oRt AN Ja=sl & gy D Ade I AP afdsor 3 wRI a6 Rl 3 AT 31 Hevayul g Feadre kR & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur grRI séidl, 3RTHIeIdl, due scfe @ S 3if2rd USURPId BHA® D dad oldl Yglol = s
ADAl GIRI 3R 31ferp HAsvayvl, fo o= 1 sraerRun @I PIdlk uf¥ggRn A famr caaven (Afcer) @ sifefym faraiiya foan st aden ? o= a8
IR DI T A 31 B aw s A, v Wl Refel PR agizad el &il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 ofidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl JHdfera el uR faerI frauur # samud wu A eart G sk &

The new reflection on social exclusion has emerged from

ARNRIE afdtpR UR oid - Ridel waf A 3cuod g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitesfias2ur yfdgenr [Option ID = 14685]

The arrival of new scholarship in sociology/3ston ¥ ol uif$eI (IpIcRim) @1 3mepiel [Option ID = 14686]
The technological impact on societies/mrsil w2 awefid gema [Option ID = 14687]

The changes in the nature of social inclusion/mfSip e @ Faeu # decra [Option ID = 14688]

A W N -

Correct Answer :-
e The industrialisation process in Europe/zRlu 3 sieisfiasur gfepzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.



3 310 srenior o ug 3z ofid 3w s18 Yol & 3az ¢ :

AP afdpR vd o3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraare snfffe, ARNRIG, IEEfae ik ARrolhe - Ao
ofiril & fafdeer uscrsil @1 A3IHate B! B RV T $AD Aca D 1T W gU; AT 916G, Iol AH! Sit fefep, AP 3R ATpiiies wu A
afdvapda APEl ur &A1l DIRA D 3 3l AT & Az 96 ATMISID WU A 13t cllvll Dl Jorchl RFrerfer A ars? orpIcral @I BRI B0l dard ¢ iR
€161 DIGA D3I 3 BiA D AAST AMRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 966 gu WU 3 RISl I &alol gra @2 & 3 53
9166 I Ieufel, ar<d I JIRT dAdoiidl docid 3R 3> Yorizel @ el IR - IMENRID AATST d ATMRID DIl D Seekd FasU DI
Yol3IaeIRuIl dollol @ U YATRA Dl Yghdia oxdl T 3creur o fere uftier amenfore foravse 61 ves aetiye sl gfdgan o siopa @2 261 3 it
safere A 261 3 aRIifes asi cid JIRT B AASEIE, TGl AYARIT 3R BcANIGHE] AT A WS seal & sifafaftril urll s 38 3 waraeu oY
eI ARNRIB YS! BT 35d 3l W 3 3R I Rl @ dfa 3 fafdost u 3 siet Sid 3; ot siienfere si¥la’, ‘srgarRil’, ‘gfeirdlr A3s’, 'vwa
siffrra’ affaa A oRil Ao AaF=sH & gy D Ade A Ao afdsor 3 wRI a6 Rl 3 AT 31 Hevayul e Feadre R & F gaa
TRIT AEMRYN 3 ok 9Nfdret dar 3 Sl freaduur gRI sidl, 3RTIeIdl, dae scfe @ S 3if2rd USURPId BHA® D dad oldl Ygiol = s
ADAl GIRI 3R 31f¥rp HAsTayvl, fo o= 1 sraemzun @I FRIdlkr uf¥ggRn A faorT caaren (Afcer) @ sifefym faraiiya fooan st aden ? o= a8
IR DI AW A 31 DI dw S A, T WAl Refel PR 9giad el &6il 31 A v Wil Rreafer RR1 ag3iIe oiel oRid 8l ? Iute 34
3 oidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl Hdfera el uR faerI frayur # carud wu A eurer G sk &

The post-industrial society and economic restructuring have contributed for
IR - 3iiEnre A iR 3nfies Yorien o fipard fore Apreret & 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3JIsPIR 38 w yoifdar [Option ID = 14689]

Strategies aimed at social integration/3mimfSie wdbiaur & aférd wishferif [Option ID = 14690]
Fragmentation of welfare state/@camwert 3= @I ffaema [Option ID = 14691]

Social disintegration into new deprived groups/sra dferd 9gl 3 AEnfe fdravser [Option ID = 14692]

A W N -

Correct Answer :-
® The reconsideration of employment issue/3IspIR #g w yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 31U srEni9r @I U iR ofid f$u 3w Yol & 3= ¢ ¢

ATHISID SfECPR U &g - IR 3aemRun 8 Sii AFgui Sor 3 fafaer wul 3 siaradret e, APIRIE, ASEiiae iR ARG - AP
D3RIl @ faffioot uscysil dI AdIfase DIl DI TRV & $AD Acd D fe1e el §U; A 9056, Iol APl il Mffp, AHIRIPG 3R ARFDITD WU A
afdcma APl UR eArel DiGA DI 3 3R AT & Az 9166 AAIRID WU A d183t Izl B Jorchl F-erfer A ars2 formictol @1 BRI B2l ard ddq U
€110 DiGA DA 3 BiA D TSl IR D Rl H PRI U Igd A8 JALIRUN Ul R i a6d gu U d RIsrell @1 &aret Y &2 3 & 39
9rec bl Ieufer, araa I Pz dwolidl gcard 3R snffc gerizaei @ e 3R - NP A d AHIRID Dl D Joeld FasU DI
Yol3[AENRUII Sollol @ U YRR Dl Yaidia oxdl 3 3crsur @ fere ulkme Amenfore ffravse & wos welise sicll gfigam o 3o @2 6T 3 St
sAfeIe 31 26T & aRIIfs asi cid FIRT Bl ASPIEL, TGAT AYARIGT 3T BCANIPEI I A WS seol &I sifcfaf?ril urfl s 28 & warasu o=t
el ATHIRID BT BT 3G 3l W 3 R A 2RI D i 3 fafdioot U 3 el S 3 "ot Siienfre s, ‘sigarfl’, ‘sfeirdl J9E’, "voa
siftrra’ affaw A oR AP A= o gy D Ade I AP afdsor 3 BRI a6 Rl 3 A6t 31 AeTayul g Feuare kR & F geaa
TRIT ARV 3 oRIT 9Nf3ret il 3 Sl fedwuT GRI siéidl, 3RIIeIdl, ddel SIfS @ SIA eI URURPIA BAAMD I dad ofdl Yglol fabam i
ADAl GIRI 3R 3ferp AsTayvl, b o= 321 sr@erRvn @I PRIk uf¥ggRn A f[ert caaven (Afder) @ sty fraiiya fepan st aden ? o= a8
IR Bl A A <31 Gt G- S ADden, v Wl Rafer Rrml agizre et acft 3 3 v ¥l Rafer Rril agizsae et si¥lq &l ? Fuse U
3 SRNdl, 3RIATGIAL, ddol serl 3R rIATl ardl Hdf2ia Fei uR fprRT firauvr 3 *mue »u A &« $ar sk 3

The scholarship on social exclusion has gone beyond
ARRID df3cPR UifseI (FPIcROMT) $3AD U2 ST Ibl 3 &

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]



The reach of governments/3r®RI &t uga [Option ID = 14693]

The conventional thinking/uusera 2ira [Option ID = 14694]

The normal issues of deprivation/ddon @ et #g [Option ID = 14695]
Common perspectives of inclusion/w@mdsret & mwie ufsggn [Option ID = 14696]

A WN -

Correct Answer :-
® The reach of governments/ar®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& 31C srenior o UG 3z ofid 3w s18 Yol & 3az ¢ :

ARTSIP afdpR vd a3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraaret snfffe, ARNRG, IEEifae ik ARrolie - Ao
ofdril & fafdreer uscysil ol AHase Dol Bl RV F $AD Aca D 1w Wl gu; As 9reg, Iol APl Sl nfefa, A iz FiTpios wu A
afdvapda APl ur &A1l DIRA D 3 3l AT & Az 96 AP WU A B3l cllvll Bl Jorchl RFrerfer A ars? forpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AT MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil R 3 96 gu WU 3 RISl @1 &ialol gra @2 3 3 53
9166 I Ieufel, ar<d I JIRT dAdoiihl docid 3R 3> Yorizel @ el IR - MENBRD AATST d AMRID DIl D Seekd FaBU DI
Yol3IaeRuIl dollel @ U JRIRI ®l Yofdfa wll 3 3creeur @ fere ulkpen wmenfore favsa &t v woflyya aXedl gfiprn o1 siopsia @2 a1 3 Sit
safere A1 261 3 aRiifes asi cid JrRT Bl AASEIEL, TGl AYARIT iR BcANIBGHEI IS A WS seol &I sifafaffril urll s 38 3 wasaeu okt
eI ARNRIB APS! BT 35d Al W 3 3R I Rl @ o 3 faffiost u 3 siet s 3; 'ora siienfere sifla’, ‘srgarRil’, ‘gfeidl A3s’, "vwa
siffrra’ affaa A oRil Ao AaFsH & gy D Ade I Ao afdsor 3 WRI a6 Rl 3 AT 31 Aevayul g Feadre R & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur gRI séidl, 3RTHIeIdl, dae scafe @ SIA 3if2rd USURPId BHA® D dad oldl Yglol s s
ADAl GIRI 3R 31ferp AsTayvl, fo o= 1 sraerzun @I FIdir uf¥ggRn A Rt caaren (Afcer) @ siferfym faraiiya foan st aden ? a=r a8
IR DI AW A ST DI dE S A, T WAl Refel PRI 953 el &6il 31 A v Wil Rrerfer PRI ag3iIe oiel oRid 8l ? Iute 34
3 ofidll, 3RIHATGIAl, ddel abGRY 3R grararsil arcl JHdfera el uR faerI frayur # camud wu A eart G sk &

The concept of social exclusion is now
ARG ai3sbrR & ST SIaenon 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdRI cisll W D farr (fter) [Option ID = 14697]

2. An issue of developmental capability/fd@ricaes 2meret o1 gz [Option ID = 14698]

3. A commodity for export from the North to the South/3m= 3 gfér &t @w foria @ e azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2pil sitemt 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/?RIdlI cilell w2 ®fga fawrr (eftsr) [Option ID = 14697]

Topic:- FS_A

1) A pistol and a fired cartridge is recovered in a murder case. The class characteristics on the fired ammunition identify
the make, that is, one in twenty; model, that is, one on five of the firearm. three characteristic marks are also observed on
the base of the cartridge case from the breech face of the firearm. The chance of occurrence of these marks ever found to
be one in ten thousand each, from the data. Find the probability of the identity of the fired cartridge to be fired with the
above pistol.

fep2ft searmis d o firdet 3l acil g3 DRGA SR—IAS T3 & AT 31T 3ol @ fafdree cigior A sad forafur gzu & usaret Bl 3, srerfa
d1 3 uap; U VAT JHise Sil 3PoRIR D Uid 3 3 TP & PRI @ uHurd A BRGA Hid @ dad J off usdarel @ fafdre ks @ $ad
D3I A UAI Ierdl & b YRID g1 &oIR 3 A il v AwIct 3 ol Rl @ Blol B HARICT I Ul Iell & IWRI fURdc A BRR ®2ol @ fe1u T
8Q DRGA Dl usiol Mol DI AHIRIAT Sl DIfSIe



[Question ID = 5066][Question Description = S2_qSNz_PG_FRS_QO01]
1. 1
1012

[Option ID = 20261]
1

1013

[Option ID = 20262]
1

1014

[Option ID = 20263]
1

1015
[Option ID = 20264]

Correct Answer :-
1
L]
1012
[Option ID = 20261]

2) Who in his book "A History of the Indian Medical Service” wrote that "a very important part of a civil surgeon's duties is
the performance of medico-legal post mortem".

fep30l sruell yrawm "Rl Rifdocar Jar @i sfieri” d ferar & "Rifde sior & wdail @I ssrayut 3 ulve aida o RifdbeilRa - ool
orf forcurcer 3

[Question ID = 5067][Question Description = S2_qSNz_PG_FRS_Q02]
1. Lt Col C. Newcomb/zifteoie wofet 2ft. sgerea [Option ID = 20265]

2. Sir William Herschel/3® faferme sofact [Option ID = 20266]

3. Dr. John Moses/Si. Sifet #irdtst [Option ID = 20267]

4. Lt Col D.G.Crawford/aiftdcoic @wofet <. Sft. arawig [Option ID = 20268]

Correct Answer :-
e Lt Col C. Newcomb/alftcole wofet 2ft. searea [Option ID = 20265]

3) In which year was the Coroner's Act, 1871 replaced in India?

fopa1 ad sea 3 ®RIeR siféforer, 1891 1 foregot fdp=m sRIT -

[Question ID = 5068][Question Description = S2_qSNz_PG_FRS_QO03]
1. 1997/1997 [Option ID = 20269]
2. 1998/1998 [Option ID = 20270]
3. 1999/1999 [Option ID = 20271]
4. 2000/2000 [Option ID = 20272]

Correct Answer :-
® 1997/1997 [Option ID = 20269]

4) Which section under Cr. P. C 1973 allows for a police inquest?

S3 yfdpzn 2dfdar 1973 &t s et @ siefior gfert gRr siogRiennst &t siopfer &1 o1 3 :

[Question ID = 5069][Question Description = S2_qSNz_PG_FRS_Q04]
1. Section 176 Cr. P. C 1973/¢s yfdgen 3ifdar, 1973 &t emr 176 [Option ID = 20273]
2. Section 162 Cr. P. C 1973/¢s yfoen 2ifdar, 1973 &t emr 167 [Option ID = 20274]
3. Section 260 Cr. P. C 1973/¢s yfegen 2ifdar, 1973 bt emar 260 [Option ID = 20275]
4. Section 174 Cr. P. C 1973/gs yfdpen 2ifdar, 1973 &t emar 174 [Option ID = 20276]

Correct Answer :-
e Section 176 Cr. P. C 1973 /<3 yfegen 3ifdar, 1973 &t emr 176 [Option ID = 20273]

5) Disobedience of Court's summons is an offense punishable under which section of the I. P. C. 1860?

GARITCRI @ Felrdl Uej I 3[asl HIRARI ¢us Jfsdr, 1860 ol fivat et @ siefior Ssoliw sruRrer 3 ?
[Question ID = 5070][Question Description = S2_qSNz_PG_FRS_QO05]



Section 168 of I. P. C 1860/sm. 5. 3ifdar 1860 bt emx 168 [Option ID = 20277]
Section 172 of I. P. C 1860/e1. 5. 3ifdar 1860 <t emr 172 [Option ID = 20278]
Section 94 of I. P. C 1860/sm. 3. Jifaar 1860 1 amr 94 [Option ID = 20279]

Section 511 of I. P. C 1860/em. 5. 3ifdar 1860 <t emx 511 [Option ID = 20280]

A W N -

Correct Answer :-
® Section 168 of I. P. C 1860/sm. . 3ifdar 1860 &t emer 168 [Option ID = 20277]

6) Open slit interface is used as an interface for which of the undermentioned technique

ferga B131 siariges @I fergoifcil¥ad 3 A b ddelle & siaIyss @ U A YIb o sirer 8 ?

[Question ID = 5071][Question Description = S2_qSNz_PG_FRS_QO06]
HPTLC-ms/wa i ¢t et 2ft - wor war [Option ID = 20281]

CE-ms/3i § - v wx [Option ID = 20282]

HPLC-ms/wa d uet 2 - wi w1 [Option ID = 20283]

GC-ms/sit ft - wr et [Option ID = 20284]

A W N -

Correct Answer :-
® HPTLC-ms/uwa i ¢t uet 3t - wat wat [Option ID = 20281]

7) In capillary electrophoresis when the ionic strength of a buffer is increased, the zeta potential will

Dl dege el A 519 qW2 DI ARI6I Yderdl d6 Sirdl 3 dl Sier fave -

[Question ID = 5072][Question Description = S2_qSNz_PG_FRS_QO07]
Decrease/=aesm [Option ID = 20285]

Increase/adsn [Option ID = 20286]

Not have any effect/uw @1 gama oiét usen [Option ID = 20287]

Depend on the charge of the analyte/frawr @ smaer w forsfz 2gsm [Option ID = 20288]

A wWN =

Correct Answer :-

® Decrease/aesn [Option ID = 20285]

8) Echelle monochromator contains two dispersing elements arranged in a series. The first of these elements is a special
type of grating called

woreT Hlolipie 3 <t gaciac Ydlvles aw 8l & sotdl 3 Usell awd U [y YR @1 3)fea1 arar 8, Ry ____ 3)fesT war sirar 3

[Question ID = 5073][Question Description = S2_qSNz_PG_FRS_Q08]
Echelle grating/wdket sjfést [Option ID = 20289]

Echellette grating/wvercie Jfdsr [Option ID = 20290]

Holographic grating/aiciienftbe® sjfest [Option ID = 20291]

Prism grating/fs# s)fdst [Option ID = 20292]

A WN -

Correct Answer :-

e Echelle grating/wdre 3jfst [Option ID = 20289]

9) Isotope dilution method is associated with which of the following
AAfSf Rrerrer ugler (3msAlciu SRIcugm6! ders) fooifelRaa i feperl wHdfea 3 ?

[Question ID = 5074][Question Description = S2_qSNz_PG_FRS_Q09]
1. X-Ray/wrar - ¥ [Option ID = 20293]

2. N. M. R/wor. wat. 3. [Option ID = 20294]

3. N. A. A/waL u uw [Option ID = 20295]

4. D. T. A/ <. u [Option ID = 20296]

Correct Answer :-
e X-Ray/uwwi - 3 [Option ID = 20293]

10) Prompt emission of X-Ray by an atom ionized by a higher energy X-Ray is a type of which of the following phenomena?

IR Holl TaA - I GRI RIiDd Bl 3Ry A Tad - ¥ I cal¥d 3cstal fowotfciiRad 3 A v YR &I ufecon & ?

[Question ID = 5075][Question Description = S2_qSNz_PG_FRS_Q10]
1. X-Ray Luminescence/uwa1 - 3 3icifiy [Option ID = 20297]

2. X-Ray Fluorescence/va=t - 3 ygift [Option ID = 20298]

3. X-Ray Phosphorescence/uwazt - 3 faeifera yeifer [Option ID = 20299]

4. Spontaneous Emission/¥aa: 3w¢d 3cster [Option 1D = 20300]

Correct Answer :-
e X-Ray Luminescence/ua - 3 3idife [Option ID = 20297]

11) What is the Chromosomal location of HLA DQA1?



e Udl. U 3l a7, U 3. bl dHlsilel iR Pl 2l 3?7

[Question ID = 5076][Question Description = S2_qSNz_PG_FRS_Q11]
1. 9P

[Option ID = 20301]
2. 8P

[Option ID = 20302]
3. 7P

[Option ID = 20303]
4. 6P

[Option ID = 20304]

Correct Answer :-
e 9P
[Option ID = 20301]
12) is a modified version of the organic extraction method that separates epithelial and sperm cells from
vaginal swab

3 Sifeep forsapeiur ypfarfer o1 Fenfera su 3 Sil Suwmen ud 9fay PIfdrmIsil I Aifor ol 3 germ ol 3 :

[Question ID = 5077][Question Description = S2_qSNz_PG_FRS_Q12]
. Reflux extraction/u2maré! foreapivr [Option ID = 20305]

. Soxhlet extraction/3iiaicic forsapdur [Option ID = 20306]

. Differential extraction/faic} forsadur [Option ID = 20307]

. Microwave-assisted extraction/sms®mda ot erir 3 forsepdor [Option ID = 20308]

A W N -

Correct Answer :-
o Reflux extraction/ugard fereptfur [Option ID = 20305]

13) The leuco base form of malachite green can be oxidized by the catalysis of to produce a green colour

&Y Jcrrase 6 It AA ATl ___ @ ICYRVI GRI SUARI &I i1 Al 3 RRIRY 541 39T 3cuod aidar 3

[Question ID = 5078][Question Description = S2_qSNz_PG_FRS_Q13]
Platelets/teleciczt [Option ID = 20309]

Heme/3a [Option ID = 20310]

Plasma/temsan [Option ID = 20311]

RBC/amz «ft it [Option ID = 20312]

A w N =

Correct Answer :-
e Platelets/wlecicar [Option ID = 20309]

14) Which of these light sources is used commonly for the visual examination of semen stains?

dif @ ereal &t zfdam Siia @ fore ARIGA: HcifciRaa i A e yaorer Fa o1 grilet fosen sirar 3 ?

[Question ID = 5079][Question Description = S2_qSNz_PG_FRS_Q14]
. Tungsten filament lamp/<srcat fibemdic ciaua [Option ID = 20313]

. Hallow Cathode lamp/32cil deiis cleu [Option ID = 20314]

. Argon laser/smsfor sz [Option ID = 20315]

. Nerst glower/ax¢ seiiaz [Option ID = 20316]

A WN =

Correct Answer :-
e Tungsten filament lamp/dsrcal fibemdic ciaa [Option ID = 20313]

15) Regions of chromosomes that are transcriptionally active are known as

RIAGIEH] D 3GIcRAURD U A Al &gl Bl b1 A1 A Sirol &I dr 3 ?

[Question ID = 5080][Question Description = S2_qSNz_PG_FRS_Q15]
1. Euchromatin/mydifest [Option ID = 20317]

2. Chromatin/aydfear [Option ID = 20318]

3. Telomere/siazs [Option ID = 20319]

4. Centromere/sprRy fiig [Option ID = 20320]

Correct Answer :-
e Euchromatin/gamydfest [Option ID = 20317]



16) The direction of travel of the blood is decided by
¥ yars o o forerifea axet 2 :

[Question ID = 5081][Question Description = S2_qSNz_PG_FRS_Q16]
1. Spine Stain/31 3ifdsid @ grr [Option ID = 20321]

2. Parent Stain/#rar fier sifiRsid @ grr [Option ID = 20322]

3. Both 1 and 2/1 wd 2 Geif @ grr [Option ID = 20323]

4. Satellite Stain/3usfg aifirsia @ grr [Option ID = 20324]

Correct Answer :-
® Spine Stain/315 aiffidsias @ grr [Option ID = 20321]

17) Wildlife Protection Act,1972 is an Act of the Parliament of India enacted for the protection of:

ao3I Sfia dAzgror sifeiforiar, 1972 sk g @1 v sififormar 3, Y _ @ Jzerr @ ferg sif2iforifira fap=m s o :

[Question ID = 5082][Question Description = S2_qSNz_PG_FRS_Q17]
1. Plants and animals species/ulil 3iiz Sig yanferit [Option ID = 20325]

2. Plants only/dbaet dieli [Option ID = 20326]

3. Animals only/@ae siqait [Option ID = 20327]

4. Humans only/@act aireral [Option ID = 20328]

Correct Answer :-
® Plants and animals species/uiil 3ii? Sig ysuferll [Option ID = 20325]

18) Which one of the following is an example of a herbal antidepressant

forgarfeiRaa 31 1 dlat seler gfer - @A DI b IGEWI & 7

[Question ID = 5083][Question Description = S2_qSNz_PG_FRS_Q18]
. Hyperforin/asuzwif¥er [Option ID = 20329]

Imipramine/ssfiggmsar [Option ID = 20330]

. Citalopram/Reeiymr [Option ID = 20331]

Doxepin/sia=ftet [Option ID = 20332]

A w N =

Correct Answer :-
e Hyperforin/smwwif¥er [Option ID = 20329]

19) The natural pyrethrin insecticides are derived from alcohols Cinerolone, Jasmolone, and Pyrethrolone

grapfere ursgfial dlcelord 3l & fSred sicplaiczt Riariellel, Sizdleile il ursigicilel 3 Yrd fop sirar 3 :

[Question ID = 5084][Question Description = S2_qSNz_PG_FRS_Q19]

1. Esters/$scat [Option ID = 20333]

2. Ketones/dclsar [Option ID = 20334]

3. Aldehydes/srestsssat [Option ID = 20335]
4. Phenols/waitcat [Option ID = 20336]

Correct Answer :-
e Esters/$3eai [Option ID = 20333]

20) Which of the following pH will be selected for good extraction of morphine from urine by using a direct solvent

extraction method

geagl i forsaiur fafér & grier & SR g A Arsla o uaia dArgy @ forsatur & fere forafelRaa 3 A e Ul va o1 axier e siresn ?
[Question ID = 5085][Question Description = S2_qSNz_PG_FRS_Q20]

1. pH 9/t wa 9 [Option ID = 20337]
2. pH 2/dt va 2 [Option ID = 20338]
3. pH 4/dt wa 4 [Option ID = 20339]
4. pH 6/t wa 6 [Option ID = 20340]

Correct Answer :-
e pH 9/dt wa 9 [Option ID = 20337]

21) 'Biphasic Effect’ is associated with which of the following

‘fourZers Y’ forssifciRaa 3 fpert dJdfera 3?7
[Question ID = 5086][Question Description = S2_qSNz_PG_FRS_Q21]



. Alcohol Drinking/&fe3r uret [Option ID = 20341]
Cocaine abuse/@ldlar @1 3det [Option ID = 20342]
. Charas Smoking/az diom [Option ID = 20343]

. LSD abuse/wet w3 St @1 et [Option ID = 20344]

A W N -

Correct Answer :-
® Alcohol Drinking/aif&er urer [Option ID = 20341]

22) Hawaiian Baby Woodrose plant is associated with which of the following drugs of abuse

sarsel ddl gsAst ulen forgoiferRa 3t 21 fop1 Ac® ucref A Jdfea 3 ?

[Question ID = 5087][Question Description = S2_qSNz_PG_FRS_Q22]
1. Lysergic acid diethylamide/ersafsia uiirs smemscmemss [Option ID = 20345]

2. Cocaine/®idbiar [Option ID = 20346]

3. Methcathinone/dterdeftsiter [Option ID = 20347]

4. Phencyclidine/wormsaciisior [Option ID = 20348]

Correct Answer :-
e |ysergic acid diethylamide/crsafSio oRs swersemss [Option ID = 20345]

23) Which of the following has a street name 'Liquid Ecstasy’

forgaifeiRaa 3 A1 fparp1 gafera ot 'ferferas vawre=f' 3 ?

[Question ID = 5088][Question Description = S2_qSNz_PG_FRS_Q23]

1. Ketamine/@emmsat [Option ID = 20349]

2. Gamma-Hydroxybutyric acid/sm - sssiaiis]feRe els [Option ID = 20350]
3. Fentanyl/warferer [Option ID = 20351]

4. Lysergic acid diethylamide/es2fSias vi¥s ssensamnss [Option 1D = 20352]

Correct Answer :-
e Ketamine/dewmsat [Option ID = 20349]

24) Find the required twist length in a 303" rifle, where the length of the projectile is 1.5"
afe ggrer &t ciars 1.5" 2t ar 303" Iwswer 3 Igtca b 33 cdars a=m ael ?

[Question ID = 5089][Question Description = S2_qSNz_PG_FRS_Q24]
1. 10"

[Option ID = 20353]
2. 9"

[Option ID = 20354]
3. 8"

[Option ID = 20355]
4. 7"

[Option ID = 20356]
Correct Answer :-
e 10"

[Option ID = 20353]

25) Stippling is also known as

fegRIqur @I forotfeiiRaa 3 1 vt ommat A 91t Sirem Sirer 3 :

[Question ID = 5090][Question Description = S2_qSNz_PG_FRS_Q25]
1. Scorching/ear gjerton [Option ID = 20357]

2. Blackening/9miet (et us Stenr) [Option ID = 20358]

3. Tattooing/2¢ getem [Option ID = 20359]

4. Singeing/arcil @1 gjerien [Option ID = 20360]

Correct Answer :-
® Scorching/caar gjerien [Option ID = 20357]

26) For a firearm with half chokes, a rough idea of the range of fire from the spread of the pellets is given by the formula

S MCRATEA FoRIRT D el 3 3lichl B B3 B YAR A 3ilell actol B IaT Bl A SIerdrs 337 g A foreftr axdl 3 :



[Question ID = 5091][Question Description = S2_qSNz_PG_FRS_Q26]
1. D = 3R [where R = the range; D = the dispersion diameter] /D= 3R [sisiR =31 ; D = ydblvfer cert &]

[Option ID = 20361]
2. R = t x ylwhere R = Range; v = Velocity of the projectile; t = time taken] / R =t x v [sgi R = 31, V = yglure| @1 do1; t = forn srRw 20w
[Option ID = 20362]

3. g3 4.6578  [where d = Diameter of the barrel; N = Bore number ] / d3 4.6578  [owi d = ot @1 @t N = @12 3z 3
N N
[Option ID = 20363]
4. D = 2y [where D = Dispersion Diameter; r = radius ] /) = 2 [owiD = wri; r = e |

[Option ID = 20364]

Correct Answer :-
® D = 3R [whereR = the range; D = the dispersion diameter] /D= 3R [ iR =3 ; D = ydivier ozt &]

[Option ID = 20361]

27) As per ASTM guidelines, the method of choice for isolation of ignitable liquid residue from debris is:

T v & wa fon fordolt @ 3rgfau, eI A Yoolded ael A9y @ gerbiaur &bl 3u=ges fafer 3 :

[Question ID = 5092][Question Description = S2_qSNz_PG_FRS_Q27]
Passive headspace extraction/@fRa 3s3031 formadur [Option ID = 20365]
Solid-phase microextraction/3iffers wot amsay foreaptior [Option ID = 20366]
Supercritical fluid extraction/3uz fpfewer wes forsatiur [Option ID = 20367]
Ultrasound-assisted extraction/sie<t - Ss vRres forayur [Option ID = 20368]

A w N =

Correct Answer :-
e Passive headspace extraction/dRa 8s301 foreastfur [Option ID = 20365]

28) The most selective detector of GC for explosive analysis is:

ferwpIee feraduur o fere Sht 2t @1 Jaifte Teca® Jiya® 3 :

[Question ID = 5093][Question Description = S2_qSNz_PG_FRS_Q28]
. Thermal energy analyzer/ardkr St feasua [Option ID = 20369]

. Flame lonization detector /it smilefias=ur 3zaa [Option ID = 20370]

. Electron capture detector/sciagior ysjgur 2iawm [Option ID = 20371]

. Electrolytic conductivity detector/sciaciemsfes aifaar izgae [Option ID = 20372]

A WN -

Correct Answer :-

® Thermal energy analyzer/andkr 3sif fsadua [Option ID = 20369]

29) If an explosion took place in an open space, the recommended area that needs to be secured is [x: fastest distance
from a seat at which fragments were found]:

afe fep2il xgel 81 3 DI Rewle 31 3 dl JA3ra e el arerr sMAf3re &g 3 [ X : BRI FeIrel uR fiRplc @ ¢S uIu 318 gsi A gdd Falel] :

[Question ID = 5094][Question Description = S2_qSNz_PG_FRS_Q29]
1. Acircular area of radius x/x fes=r @1 v aqy®R & [Option ID = 20373]
2. Acircular area of radius 1.2x/1.2x fés=n @1 ve a@eR & [Option ID = 20374]
3. Acircular area of radius 5x/5x 1 @1 v a@@R & [Option ID = 20375]
4. Acircular area of radius 7x/7x fefsan @1 v aaqrer & [Option ID = 20376]

Correct Answer :-
® A circular area of radius x/x fefz=n @1 v agerR &g [Option ID = 20373]

30) If a circular object at the scene is photographed at an angle of 45°, the object will appear:
Afe ruRIer Ferel UR il gardR avq &l wicsbl 45 3ofi @ @Ivr uz &I Sicdl 3 dl avq b WU I £9AHI6T BIPTI :

[Question ID = 5095][Question Description = S2_qSNz_PG_FRS_Q30]
Circular/garer [Option ID = 20377]

Elliptical/qu [Option ID = 20378]

Parabolic/uzacrft [Option ID = 20379]

Hyper bolic/sifer acr=ft [Option ID = 20380]

A W N -

Correct Answer :-
e C(Circular/gamr [Option ID = 20377]

31) A chemical with an autoignition temperature below 130 °F is better-known as:



130 35} BRolgIsc A DA AUDA TR IAd: Ysodclol dIcll ARG forForferRaa 3 A ot omar A yafera 2 :

[Question ID = 5096][Question Description = S2_qSNz_PG_FRS_Q31]
1. Autoignitable liquid/zaa: yssacterefier ga [Option ID = 20381]

2. Oxidizable chemical/sifa=fiay gl @er 32rtet [Option ID = 20382]

3. Thermophoric/amsfos [Option ID = 20383]

4. Pyrophoric/asifSsreforas [Option ID = 20384]

Correct Answer :-
e Autoignitable liquid/zaq: gssdcrorsfier ga [Option ID = 20381]

32) A Standort diagram is often used to plot which of the following property of fibre?

ICosi¢ SRIFYEH DI WIsaR &I b fdradar ol teifc w2l 3q YrRI: YRAIT e sirer 3?7

[Question ID = 5097][Question Description = S2_qSNz_PG_FRS_Q32]
1. Wearing pattern/goirac @1 f$isat [Option ID = 20385]

2. Color intensity/3st &t digar [Option ID = 20386]

3. Density/=erea [Option ID = 20387]

4. Refractive indices/smadsiics [Option ID = 20388]

Correct Answer :-

e Wearing pattern/geirae o1 f$smset [Option ID = 20385]

33) Which of the following is true about the IMEI number?
3T A $ 3M1E I D AR 3 foorferRaa 3 3 dla weret 331 3 ©

[Question ID = 5098][Question Description = S2_qSNz_PG_FRS_Q33]
1. Itis a 15 digit long number/=s 15 siwi &t 3ieen 3 [Option ID = 20389]
2. It is a hexadecimal representation of number 0-9/?8 9o 31 9 A DI IR DI WS Gowledid forsuvr & [Option ID = 20390]
3. Even if a phone is dual SIM, there is a single unique IMEl number/sict & =it wiat 3i o1 Bw1 81, 3cht 3 wat § 3 3= vavet a fafdree BKedt & [Option ID =
20391]
4. It is mostly found in CDMA than GSM phones/Sit vt wot Wiel &t 3MIET 6 IR i St wr u 3 siftea atar & [Option ID = 20392]

Correct Answer :-
e |tisa 15 digit long number /= 15 3wl &t 3=n & [Option ID = 20389]

34) The rate of compression for a fingerprint as per ANSI-NIST guidelines in case of WSQ is:

T Uol U 3MIE - Uol 3M1$ TA & ARSI & eRIR Socey, B, R, bl gon 3 siv)fersra & dise Bl g2 3t 3 :

[Question ID = 5099][Question Description = S2_qSNz_PG_FRS_Q34]
1. 10:1
[Option ID = 20393]
2. 20:1
[Option ID = 20394]
3. 30:1

[Option ID = 20395]
4. 40:1

[Option ID = 20396]

Correct Answer :-
e 10:1
[Option ID = 20393]

35) "Viola and Jones" algorithm is useful for:

"dRIc US Slled’ dololfafl forgeifeiRaa i A fooaras fore su=nshi 2 :

[Question ID = 5100][Question Description = S2_qSNz_PG_FRS_Q35]
1. Face recognition/<ds3 &t usarer @ fere [Option ID = 20397]
2. Iris recognition/sifx &t ydcft &t uaarer @ fere [Option ID = 20398]
3. Face detection/ds3 @1 u el @ fére [Option ID = 20399]
4. Iris detection/sifza &t yacft @1 uar ooror @ fere [Option ID = 20400]

Correct Answer :-

® Face recognition/ds3 &t usare @ fere [Option ID = 20397]

36) Considering vocal tract a tube of uniform diameter, close at one end and open at another. The lowest resonance
frequency of a 17cm long vocal tract is: (Velocity of sound 340m/s)



¥R offerepI UR fARIR B3 gu AU ART Pl olcil uap 3iiR g Biddl 3 s gl 3ii? sgd 8iel 3 wap 17 Adsfie cidl aiferat &l =yeieaa 3olole
argfer 3 : (eafor @1 ds1 340 3fter gfer ADUs)

[Question ID = 5101][Question Description = S2_qSNz_PG_FRS_Q36]
1. 1000 Hz/1000 scst [Option ID = 20401]

2. 500 Hz/500 acst [Option ID = 20402]

3. 400 Hz/400 acst [Option ID = 20403]

4. 200 Hz/200 acst [Option ID = 20404]

Correct Answer :-
e 1000 Hz/1000 acsf [Option ID = 20401]

37) Which of the following fingerprint development technique undergoes polymerization reaction with sweat residue?

forgatferRaa 3 3 vt sivyfersTu Aot bl Amolies 3 A< srafdree A ggeliasur &I gferfepan ket 3 :

[Question ID = 5102][Question Description = S2_qSNz_PG_FRS_Q37]
lodine fuming/smeister wyfdier [Option ID = 20405]

Cyanoacrylate fuming/Rmiefere wifdist [Option ID = 20406]

Silver nitrate/Ricaz asee [Option ID = 20407]

lodine dusting/smister sR<er [Option ID = 20408]

A W N -

Correct Answer :-
e |odine fuming/3miEler wyfdist [Option ID = 20405]

38) A small dot-like dark extra deposits of ball-point ink along the main ink stroke especially at the turns in writing

T A8 bR D AT diet tarse 8l @1 a9y Fu 3 forarac 3 gena @ IRI oy [ig Sl 5168t R1dl 6l serac

[Question ID = 5103][Question Description = S2_qSNz_PG_FRS_Q38]
1. Burr Striation/az Rgeiterer [Option ID = 20409]

2. Splicing/=ufif3ier [Option ID = 20410]

3. Pen-Patching/%er - @fist [Option ID = 20411]

4. Gooping/syftier [Option ID = 20412]

Correct Answer :-
e Burr Striation/«2 Reziterer [Option ID = 20409]

39) Glass-platen defect marks on the photocopied documents are considered as:
BIcIBidl fpu gu crardsil R serT - wicd gfe fRiss ot forrafeifRaa e sirr 8 :

[Question ID = 5104][Question Description = S2_qSNz_PG_FRS_Q39]
Individual Characteristics/cafeperd fagiwams [Option ID = 20413]

Class characteristics/asf fagmare [Option ID = 20414]

Transitory/eifor [Option ID = 20415]

Superficial Characteristics/a@! fadmare [Option ID = 20416]

AN wnN -

Correct Answer :-

e |ndividual Characteristics/cafepsra fagwam [Option ID = 20413]

40) The act of inserting the writing between the lines of handwriting for the purpose of adding or correcting a part to what
has already been written is known as:

Sil usdl 8 forar st gt 3 D 1330 B Siisol sreral A8l Dol D IZ9A A s¥AcAol Dl clrsoll D dia ferarac @ yfree @0l @1 oI fowafeiRaa o
U 3 SIIell SIIer 3 :

[Question ID = 5105][Question Description = S2_qSNz_PG_FRS_Q40]

1. Obliteration/faeiuer [Option ID = 20417]

2. Erasure/fderon [Option ID = 20418]

3. Inter lineation/swasxiker [Option ID = 20419]
4. Retracing/yet: siepet [Option ID = 20420]

Correct Answer :-
e Obliteration/faciuer [Option ID = 20417]

41) When the wire marks are observed as parallel, during the examination of paper by transmitted light, the paper is
referred to as

ST URSTRI T YPII GRI BRIl bl Siid @ SRl AATGTIAR D WU 3 dRIR ATGA BY 31 Sl 3 ad a6 deTel foretferRad aar it 3 :
[Question ID = 5106][Question Description = S2_qSNz_PG_FRS_Q41]



Wove paper/qa tuz [Option ID = 20421]
Blotting paper/sciifést tuz [Option ID = 20422]
Filter paper/fibcez tuz [Option ID = 20423]
Laid paper/cdrs tuz [Option ID = 20424]

A W N -

Correct Answer :-

e Wove paper/qa tuz [Option ID = 20421]

42) The sequence of pages in the multipage laser-printed document could be determined from the position of which type
of defect marks

g g0 ooR fies crardst 3 geol &t iz o1 forerizur b gfe & Rics @ ywr & Rafer 3 s s Adar 3 ¢

[Question ID = 5107][Question Description = S2_qSNz_PG_FRS_Q42]
Glass platen defect marks/seirt wica qfe Ries [Option ID = 20425]

Roller defect marks/3er gfe fires [Option ID = 20426]

Drum defect marks/s# gfe fRiss [Option ID = 20427]

Residual toner impressions/smafdre clorz @1 [Option ID = 20428]

A W N -

Correct Answer :-
e Glass platen defect marks/semrt wicar gfe Ries [Option ID = 20425]

43) Superimposition is the technique applied to identify a dead person and cannot be helpful in absence of one of these:

EARIUVI T8 ADoID & il P RARth DI UsdIol Dol D {18 IURIIST [br Siar & 3iiR gotdi A fop=il bl sraqui-arfer 3 AeRID o181 81 D & ¢

[Question ID = 5108][Question Description = S2_qSNz_PG_FRS_Q43]
Post-mortem photograph /sy usra wiclsw [Option ID = 20429]

Ante-mortem photograph/#e] yd wiclsw [Option ID = 20430]

Skull hair/Rr @ aret [Option ID = 20431]

Eye orbits/aigejer [Option ID = 20432]

A w N =

Correct Answer :-
® Post-mortem photograph /g uara wiclpw [Option ID = 20429]

44) Which one of these is NOT the advantage of video superimposition

forgsiferRae 31 3 wlel A3 sreARIULT DI oA o18l 3 ?

[Question ID = 5109][Question Description = S2_qSNz_PG_FRS_Q44]

1. Allows fade out of either skull or facial image on a monitor for an overall assessment/ st 9] Fcicdol @ e dolies U2 = Al st A1 A oI axdlz faga
2 it & [Option ID = 20433]

2. With picture stationery on the screen, the screen, the skull can be moved and seen in real-time over the computer till two match/z@ter @ azdiz @
ez Igol I WUSt Bl arRdAfdd IVRI 3 dd db Adiferd e iz ST SIT bl & S dd b 3ot Slall @ faretrel of @l sme [Option ID = 20434]

3. Images are not as fine as with conventional photographic superimposition/sfrl uRuR® Bt sreRuv Sl sl ot idt [Option ID = 20435]

4. Allows sectioning images of the skull and facial images/swt Tust siie as3 bt a3l @1 [ermster e s Jrepar & [Option ID = 20436]

Correct Answer :-

o Allows fade out of either skull or facial image on a monitor for an overall assessment /s 3] FcIidol d fere Hfofle? w2 a1 Al 2dust =1 As3 Ht axdl faga
2t st & [Option ID = 20433]

45) The large, everted, and irregular size of the wound is suggestive of:

fra oI §31, aidold iz siforIf3ra snorR srefsrfdfa 3 :

[Question ID = 5110][Question Description = S2_qSNz_PG_FRS_Q45]

1. Entry wound of gun/dg® @ yfafte ama [Option ID = 20437]

2. Exit wound of gun/dge @1 foehr ama [Option ID = 20438]

3. Stab wound/ygr ara [Option ID = 20439]

4. Lacerated wound by blunt object/sfiers a¥q grr dis - wrs fdsen g3m ama [Option ID = 20440]

Correct Answer :-
e Entry wound of gun/sgm @ yfdfte ama [Option ID = 20437]

46) The pubic angle of pelvis girdle in female is

Jifgetr 3t 9fifdT I DI STHGE DIVT BT 3 &

[Question ID = 5111][Question Description = S2_qSNz_PG_FRS_Q46]
Right angle /w1 @t [Option ID = 20441]

Obtuse angle/siféras @iur [Option ID = 20442]

Acute angle/s=et ot [Option ID = 20443]

Straight angle/ss3] @t [Option ID = 20444]

A W N -



Correct Answer :-
e Right angle/3w1 @ [Option ID = 20441]

47) Which city in India is NOT having a regional forensic science laboratory
A. Karnal

B. Varanasi

C. Nagpur

D. Bhopal

E. Hyderabad

Choose the correct answer from the options given below:

3R 3 b 918 3 S ARITCIRI GRABT9NET o1él 8 :

A. @

B. armwRit

C. a1y

D. sfiare

E. 3cararg

il fou s1u freseul 3 A I IR BT w6l HISIE ©

[Question ID = 5112][Question Description = S2_qSNz_PG_FRS_Q47]

. B and D only/daet B aiiz D [Option ID = 20445]
. Aand E only/dact A siiz E [Option ID = 20446]
. Aand B only/a@aet A siiz B [Option ID = 20447]
. B and C only/aaet B siiz C [Option ID = 20448]

A W N -

Correct Answer :-
® B and D only/dae B siiz D [Option ID = 20445]

48) The formation of a blood droplet is a complex event that is influenced by
A. Viscosity, Surface tension

B. Chemical changes

C. Coagulation

D. Cohesion force, gravity

Choose the correct answer from the options given below:

b feig i1 forafor wap sifeer areon 3 it yenfera diedl 3 :
A. 9TGIdl, Ads D dolld A

B. rrifores uf¥ader

D. JAstel de, dpsea
oiid f&u a1u farapeul 3 A Y IR BT TR DI &
[Question ID = 5113][Question Description = S2_qSNz_PG_FRS_Q48]

A and B only/daet A siiz B [Option ID = 20449]
A and D only/@act A siiz D [Option ID = 20450]
B and C only/a@qet B siiz C [Option ID = 20451]
C and D only/@aet C sfiz D [Option ID = 20452]

A W N -

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 20449]

49) Which of the undermentioned is/are a metabolite of ethanol
A. Acetaldehyde

B. Formaldehyde

C. Acetic acid

D. Acetic anhydrate

Choose the correct answer from the options given below:



forgatfcii¥ad 3 A ®lel wdsiicr @& derdicse & ?

A. uRiccdiarss

B. wisicslarss

C. of3ifte oftts

D. cfiafew woftars3e

il fou s1u Rrepeul 3 A I IR BT a6l HIfSIE ©

[Question ID = 5114][Question Description = S2_qSNz_PG_FRS_Q49]

A and B only/@act A 3iiz B [Option ID = 20453]
A and C only/d@act A siiz C [Option ID = 20454]
B and C only/asaet B iz C [Option ID = 20455]
B and D only/dact B sfiz D [Option ID = 20456]

A WN -

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 20453]

50) The amount or degree of Yaw depends upon

A. Physical characteristics(Length, diameter, and cross-sectional density)of the bullet
B. The rate of twist of the bullet

C. Kinetic energy possessed by the projectile

D. Density of the medium

E. Gravitational force

Choose the correct answer from the options given below:

reloet s1el A fractat &t Ay = Fa= fonk war 3 ¢

A. 3iicil i siifern fRroluansil (cierg, IRt SR ferfe ufds gorca) u=

B. aiicht & gama &t <=

C. ygiuw & siferst et

D. #AreRIa1 @I "golea

E. spscarpdur g

ofi o s1u faseal & A A8} IR BT wRI6l BT :

[Question ID = 5115][Question Description = S2_qSNz_PG_FRS_Q50]

. A, B, and C only/d@5act A, B siiz C [Option ID = 20457]
. A, B, and D only/d>aet A, B 3iiz D [Option ID = 20458]
. A, B, and E only/@qet A, B sl E [Option ID = 20459]
. B, D, and E only/a>ae B, D siiz E [Option ID = 20460]

A W N -

Correct Answer :-
e A, B, and C only/dact A, B iz C [Option ID = 20457]

51) Which of the followings are the CORRECT facts about scorching

A. It is caused by the efflux of very hot powder gases from the muzzle

B. It can be easily removed with a wet sponge

C. It depends upon the surface of the target weight of powder charge, pressure, and type of powder
D. The presence of scorching is definite proof of firing from 20-28 inches

Choose the correct answer from the options given below:

eIl (Fpifier) A dftr fororfeiRaa el & A waif a1 ad 3 ?

A. I oIe-g= A Jag op1 uss: =l @ afdsfa & orur diar @

B. 33 uw aficr sl A RIGH A seRI S Addar 3

C. IIB dga &l Ads, uss? st & AR, cdd 3R Uss: & ybR u? fonf war 3

D. gIcrior b Tcon &t suf¥erfer 31 ard o1 foifdia yemmor 3 {3 siicht 20 - 28 $a A oeh o 3
il f3u s1e fraseul 9 3 A IR BT Il BRI :



[Question ID = 5116][Question Description = S2_qSNz_PG_FRS_Q51]

A and B only/@act A 3iiz B [Option ID = 20461]
A and C only/dact A siiz C [Option ID = 20462]
A and D only/a5act A siiz D [Option ID = 20463]
B and C only/dact B sfiz C [Option ID = 20464]

A W N -

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 20461]

52) The required twist of rifling in the firearm depends upon the
A. Diameter of the projectile

B. Length of the projectile

C. Density of the projectile

D. Angle of fire of the projectile

E. Base drag of the projectile

Choose the correct answer from the options given below:

31PoRIRT], A ASWITIdT I ufda goma forlkz @ar 3 :

A. g8iU® B ART IR

B. ggus &l carg uz

C. g8iu® @ "olcd R

D. ggius A siicll sPrel @ ®IvT Uz

E. ygia® @& a1 391 R

ofi o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 5117][Question Description = S2_qSNz_PG_FRS_Q52]

A, B, and C only/dsaet A, B siiz C [Option ID = 20465]
B, C, and D only/a@ac B, C siiz D [Option ID = 20466]
D and E only/a3aet D sik E [Option ID = 20467]

A, D, and E only/asaet A, D siiz E [Option ID = 20468]

A W N -

Correct Answer :-
e A, B, and C only/ddct A, B iz C [Option ID = 20465]

53) To achieve stability in bullet flight, it requires rigid constructional control, for which:
A. The transverse axis must coincide with the line joining two endpoints of the bullet

B. The longitudinal axis must coincide with the line joining the endpoints of the bullet

C. The center of gravity must coincide with the center of forms

D. The center of gravity must coincide with the longitudinal axis of the bullet

Choose the correct answer from the options given below:

3icht & Jacta B Rer 301 @ fore, ©oR frvnars Hriqur sAfda aar 3, Rrrd e
A. 3IGIgZeI 3181 I AYAD HU A dlieil @ Sletl BRI & FRAisid a1 & Jurdl dion anfde
B. are1det a1g1 I smaeAds U A alicil @ ol Rl &I Ji=isas a1 @ Hurdl o anfde

C. 315ca d5g AMADB FU A TAHU DG D AUIdl Blotl a1fdg

D. spsca @¢ MagAd® FU A el D eIt g1 & Hurdl dlen aifdu

ofid o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 5118][Question Description = S2_qSNz_PG_FRS_Q53]

A and B only/d>qet A siiz B [Option ID = 20469]
B and C only/@aet B siiz C [Option ID = 20470]
C and D only/dsaet C siiz D [Option ID = 20471]
D and A only/d>aet A sfiz D [Option ID = 20472]

A W N -

Correct Answer :-
e Aand B only/@aet A iz B [Option ID = 20469]

54) Which of the following lenses are usually prescribed to document impression evidences:

A. Normal lens



B. Telephoto lens(50mm to 105 mm)
C. Macro lens
D. Wide-angle lens

Choose the correct answer from the options given below:

BIU AT D Ycidol D fere Anieaarn fooifeiRaa 3 2 fvot oAl o Jsia &= strar 3 ?
A. AmEIeA A

B. 2fer - wieY ¢ (50 wat war A 105 war wa)

C. dqmr i

D. arss Sarer A

il fou s1u freseul 3 A I IR BT w6l HIfSIE ©

[Question ID = 5119][Question Description = S2_qSNz_PG_FRS_Q54]

. A, B, and D only/d@5aet A, B siiz D [Option ID = 20473]
. B and C only/dacr B siiz C [Option ID = 20474]

. B, C, and D only/a@ae1 B, C siiz D [Option ID = 20475]
. A, Cand D only/a@aet A, C siiz D [Option ID = 20476]

AW N -

Correct Answer :-
e A, B, and D only/d>act A, B siiz D [Option ID = 20473]

55) Ignition susceptibility test is recommended to analyze which of the following explosives?
A. Smokeless Powder

B. Black Powder

C. Organic high explosive

D. Primary high explosive

Choose the correct answer from the options given below:

forratferRaa & A el frwIcm] @ fo1e Yssactel JyHTIdar algor &l Fxdqfer of sidl 3 ?
A. ygpfda gof

B. scip uss?

C. Sifé 3a firwlcd

D. yrafires 3a Rewied

il fou s1e freseul 9 2 & Fa= goi ¢

[Question ID = 5120][Question Description = S2_qSNz_PG_FRS_Q55]

. A, B, and C only/d@act A, B siiz C [Option ID = 20477]
. A, B, and D only/d>aet A, B 3iiz D [Option ID = 20478]
. B, C, and D only/a@aa B, C siiz D [Option ID = 20479]
. A, C, and D noly/daact A, C siiz D [Option ID = 20480]

A W N -

Correct Answer :-
e A, B, and C only/ddct A, B siiz C [Option ID = 20477]

56) Which of the following is normally used in homemade explosives?
A. Ammonium nitrate

B. Sodium Chlorate

C. Black Powder

D. Lead azide

Choose the correct answer from the options given below:

M U A Hifdfa fRewies! 3 apmcua: frsfeiRad 3 A o ygw o 3 ?
A. piiform a1see

B. Mf3=rer aeine

C. ocip uss?

D. a3 warss



offa f3u a1u faaseul 3 A I8 IR DI TR BRI
[Question ID = 5121][Question Description = S2_qSNz_PG_FRS_Q56]

. A, B, and C only/dact A, B afiz C [Option ID = 20481]
. A, B, and D only/daet A, B 3iiz D [Option ID = 20482]
. A, C, and D only/a@aet A, C aiiz D [Option ID = 20483]
. B, C, and D only/aaer B, C siiz D [Option ID = 20484]

A W N -

Correct Answer :-
e A, B, and C only/d@act A, B siiz C [Option ID = 20481]

57) Which of the following software are used for data retrieval from mobile phones:
A. Mobile edit

B. UFED ULTIMATE

C. Susteen secure view

D. Elcomsoft software

E. Amped five

Choose the correct answer from the options given below:

Aarser diol A cd - YferoIRme (31T Rdad) @ fere s AfrecdRr 3 :

A. afder ufse

B. gBs sredlaie

C. 3=da BraR o,

D. uewia JHive AiwedzR

E. 3 wrsa

ofi o s1u fwsedl & A A8} IR BT wRI6l BT :

[Question ID = 5122][Question Description = S2_qSNz_PG_FRS_Q57]

. A, B, and C only/d@act A, B siiz C [Option ID = 20485]
. A, C, and D only/a@act A, C siiz D [Option ID = 20486]
. A, B, and D only/a@act A, B siiz D [Option ID = 20487]
. B, C, and D only/a@ae B, C siiz D [Option ID = 20488]

A W N -

Correct Answer :-
e A, B, and C only/ddct A, B siiz C [Option ID = 20485]

58) Call Detail Record (CDR) usually contains which of the following information?
A. Starting cell

B. Ending cell

C. Called number

D. Complete Call Recording

Choose the correct answer from the options given below:

et Bea R (fiSiemR) 3 fowafifRaa Jaen seafdfee 2t 3 :

A. vaféar Ja

B. ufssar e

C. R o¥eR R @id fop= sk 8

D. gl e RSt

ofi o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 5123][Question Description = S2_qSNz_PG_FRS_Q58]

1. A, B, and C only/dact A, B siiz C [Option ID = 20489]
2. A, B, and D only/a@aet A, B siiz D [Option ID = 20490]
3. B, C, and D only/a@ae B, C aiiz D [Option ID = 20491]
4. A, C, and D only/a@5aer A, C aiiz D [Option ID = 20492]

Correct Answer :-
e A, B, and C only/aaet A, B aiiz C [Option ID = 20489]



59) Which of the following are examples of synthetic polymer type fibres?
A. Acrylic

B. Aramid

C. Modal

D. Lyocell

Choose the correct answer from the options given below:

forgot 3 A dlet a1 RiIAR® UIftIR YR B BrEaR B IEWI 3

A. dfgpfers

B. Safirs

C. s

D. arif¥ra

ofid 3w o1 fweal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 5124][Question Description = S2_qSNz_PG_FRS_Q59]

A and B only/d>qet A siiz B [Option ID = 20493]
A and C only/@act A siiz C [Option ID = 20494]
A and D only/d@aet A siiz D [Option ID = 20495]
B and C only/daet B siiz C [Option ID = 20496]

A w N =

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 20493]

60) Which of the following glass fracture marks can help in the determination of the direction of force applied?
A. Conchoidal marks

B. Wallner lines

C. Sickle marks

D. Rib marks

Choose the correct answer from the options given below:

forget 3t 3 Dot -1 Bia b feisr geirana ol fSonm @ forerfzur 3 s w2 3 ?
A. o fasist

B. dicioRR crsal

C. 3Rt fepier

D. f¥a fasier

il fou o1 frpeul 3 2 & 3R BT a6l HIfSIE ¢

[Question ID = 5125][Question Description = S2_qSNz_PG_FRS_Q60]

1. A, B, and C only/d@aa A, B siiz C [Option ID = 20497]
2. A, B, and D only/dact A, B 3iiz D [Option ID = 20498]
3. B, C, and D only/dsaet B, C siiz D [Option ID = 20499]
4. Cand D only/daer C siiz D [Option ID = 20500]

Correct Answer :-
e A, B, and C only/dact A, B siiz C [Option ID = 20497]

61) Which of the following measurements are commonly used for gait analysis?
A. Person's stride

B. Step length

C. Step width

D. Step height

Choose the correct answer from the options given below:

arel freayuT & fé1e ARIGIa: I AU 8 ©
A. cafip @1 DA



B. @ca & coars

C. wca &I disE

D. wca & Hars

ofi o s1u feseal & A A8 IR BT wRI6l BT :

[Question ID = 5126][Question Description = S2_qSNz_PG_FRS_Q61]

1. A, B, and C only/dsaet A, B siiz C [Option ID = 20501]
2. A, B, and D only/daet A, B siiz D [Option ID = 20502]
3. B, C, and D only/a@aa B, C siz D [Option ID = 20503]
4. A, C, and D only/aact A, C iz D [Option ID = 20504]

3]

Correct Answer :-
e A, B, and C only/ddct A, B siiz C [Option ID = 20501]

62) Which of these are common types of tyres?
A. Radial

B. Rimmed

C. Belted

D. Diagonal bias

E. Stanced

Choose the correct answer from the options given below:

Soldl Dol A AMAIRI TRR D YDR 3 &

A. e

B. Ry

C. dccgm

D. faoulf usr

E. 3591

il feu s1u fareedl 3 A A8 IR D1 WRIet B :

[Question ID = 5127][Question Description = S2_qSNz_PG_FRS_Q62]

1. A, B, and C only/daa A, B sfiz C [Option ID = 20505]
2. B, C, and D only/a@ae B, C aiiz D [Option ID = 20506]
3. A, B, and D only/dact A, B siiz D [Option ID = 20507]
4. A, C, and D only/daet A, C siiz D [Option ID = 20508]

2]

Correct Answer :-
e A, B, and C only/dact A, B siiz C [Option ID = 20505]

63) Which of the following are suprasegmental features?
A. Stress

B. Juncture

C. Intonation

D. Coarticulation

E. Assimilation

Choose the correct answer from the options given below:

forgotferRaa & A a=n o= u=nimeiRI fRrdraarn 3 :

A. gfema

B. Jemrerc

C. FaRIarv (3reIdret)

D. 315 - IR

E. zaisfiazur

il fou o1 feseul 3 A & Fa= gforo :

[Question ID = 5128][Question Description = S2_qSNz_PG_FRS_Q63]



A, B, and C only/@dct A, B iz C [Option ID = 20509]
A, C, and D only/d>aet A, C siiz D [Option ID = 20510]
A, C, and E only/aact A, C siiz E [Option ID = 20511]
C, D, and E only/a@aet C, D siiz E [Option ID = 20512]

A W N -

)

Correct Answer :-
e A, B, and C only/d@act A, B siiz C [Option ID = 20509]

64) Which of the following are the characteristics of finger movement in the examination of handwriting
A. Irregular connection between letters and part of letters

B. Blunt initial starts

C. Smooth clear-cut rapid strokes

D. Angular writings

Choose the correct answer from the options given below:

s¥dcrE i siia 3 forvaferRaa 3 A wlar oredl Haetol @ sifdrergor 3 ?

A. 31gRI 3iR s1grRiol @ dia siforifdra AFdctot

B. @5 3Nk yRH

C. I Fgruee gd bl

D. ®ivfia crast

il fou s1u freseul 3 3 I IR BT ToT HIfSIE ©

[Question ID = 5129][Question Description = S2_qSNz_PG_FRS_Q64]

A and B only/d@act A siiz B [Option ID = 20513]
B and C only/dact B sfiz C [Option ID = 20514]
C and D only/dsaet C siiz D [Option ID = 20515]
D and A only/d>act A siiz D [Option ID = 20516]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 20513]

65) Which of them describes the line quality defects in the handwriting of age and ill persons

A. Tumors show unusual and erotic departure of the line from its intended course and then abrupt recovery
B. Pen lifts present at the wrong places

C. Movements beyond the control of the writer particularly in a downward stroke

D. Delicate, unnecessary and careful retouchings

E. Inequality in the movement at any place in the writing strokes that is, strong and vigorous stroke combined with
hesitating strokes

Choose the correct answer from the options given below:

forgot 3 A Dl - AT g ud AR afepl & ferars 3 Yl 3101 - Sy @1 gufer w2ar 8 ?

A. ®ud ¥ @ qifisa U A Usdl 3RIFIGA Ud 8fid Yol Yoifa m=d 3 3iiz fis2 smarei® Sl oI S &
B. ol @I 36T SIT6IT 3lcld FeToll U= 3ldl 3

C. 30z fa9y U 3 ehe1Efl 3zl &t siefaflRRIT crast @ foriqur 3 ars: arfl 3

D. o™, felra9u® ud &Atolyd® bl o1¢ facfereg

E. crmot & el off SPTe uR ferard 3 sR1dtroran Atell wél B3l 9P 3T 3R Bl - Bél Aprayl ferars
ofid R s1u el & A A8 3= gfomw ©

[Question ID = 5130][Question Description = S2_qSNz_PG_FRS_Q65]

A and B only/dsact A siiz B [Option ID = 20517]
A and C only/d@act A siiz C [Option ID = 20518]
A and D only/a@aet A siiz D [Option ID = 20519]
C and E only/@ae C iz E [Option ID = 20520]

A W N -

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 20517]

66) Match List | with List Il

IList | List Il




IA. Comparison Microscope

I. Hair

B.Scanning Electron Microscope

Il. Bullet and cartridge

C. Basic compound Microscope

lll. Sequence of stroke

D. Stereo Microscope

IV. Gunshot residue

Choose the correct answer from the options given below:

et -1 B e -1l A e i

et -l et -1l
A. derRIcaAD JgAGI |. are1
B. ¥dfoidr scraciol JgaAcoll Il. snefl siie orRGA

C. MERYA DURS JgHGOI 111, Izarsil @1 Ba
D. ¥éf=i Jgacett V. 3R @& Y&Iuvul aia
oiil f¢u aru famedl 3 A A8 IR ot :

[Question ID = 5131][Question Description = S2_qSNz_PG_FRS_Q66]

1. A-1l,B-1, C- 1V, D - lll [Option ID = 20521]
2. A-1,B-l, C-1V,D-L[Option ID = 20522]
3. A-1,B-1V,C-1,D -l [Option ID = 20523]
4. A-1,B- U, C-L,D- LV [Option ID = 20524]

Correct Answer :-
o A-I,B-L,C-1LV,D-L[Option ID = 20521]

67) Match List | with List Il

List |
IA. Compound Microscope
B. Electron Microscope

List Il

I. Magnifies images more than 100000 times
Il. Permits viewing of two objects at once

C. Stereo Microscope lll. Basic two convex lens microscope

D. Comparison Microscope IV. Long working distance, three dimensional
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -| et -l
A. DIUiSs Fgacofl |. ®frl @1 1000 31um A SATST ST B2 Sl &
B. sciaciel Jgarceff 1. 33R) ueb arR 3 S a¥qgail Bl ST Sl ADI &

C. ¥R Jgacoff 1. S srader izt arerr smemRsd JgHacol

D. dearcam Jgacoll ||V, < orbmers gfl, fefasiia
oif<l fGu ore fqedl 3 A A8 3R gfore :

[Question ID = 5132][Question Description = S2_qSNz_PG_FRS_Q67]

A-U,B-1,C-1V,D -l [Option ID = 20525]
A-1,B-1ll, C-1V,D -l [Option ID = 20526]
A-U,B-1,C-1ll,D -V [Option ID = 20527]
. A-1,B-1,C-lL,D- LV [Option ID = 20528]

A W N -

Correct Answer :-
e A-I,B-L,C-LV,D- L [Option ID = 20525]

68) Match List | with List Il

List | List Il

Working Groups Exhibit

A. SWGSTAIN I. DNA

B. SWGDAM Il. Gunshot residue
C. SWGFAST Ill. Blood

D. SWGGSR IV. Ridge analysis

Choose the correct answer from the options given below:

et -l ot 3Eh -1l A Fgafera HifSre :

et -1 el -1

A. SWGSTAIN I. 4. o @,

B. SWGDAM I1. srotolic sradra
C. SWGFAST Il 2

D. SWGGSR IV. ascas Reedseor

il fou o1 frscul 3 A A IR o ©



[Question ID = 5133][Question Description = S2_qSNz_PG_FRS_Q68]

A-U,B-1,C-1V,D -l [Option ID = 20529]
A-1,B-1lll, C-1V,D -l [Option ID = 20530]
A-1l,B-1V,C- L D-[Option ID = 20531]
A-U, B-1,C-LV,D-[Option ID = 20532]

A WN -

Correct Answer :-
e A-I,B-L,C-LlV,D- L [Option ID = 20529]

69) Match List | with List Il

List | List 11

A. Synergism I. Physical effect of a drug on a person manifested by an extreme craving for the drug

B. Addiction Il. Occurs when increasing doses are required to maintain the same level of effect as the original dose)
C. Half-life lll. Magnified effects from a combination of similarly acting drugs

D.Tolerance IV. Time taken by the drug in the body to be reduced to half its concentration

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgaifera Hifste ¢

et -1 et -1
A. |. Rp=ft cafep Uz fip=ft sGd ucrel @ siiferd Qema SREI 33 AcH ucTe]]
Ricpat (@ feru s1Ed cIer® Bl 3

B. Il. 18 aq afea dlar 3 S el SISt D g dl RDR ol D e Sist
RIAol [ EGIoll USdl 3

:{;_gmf 1. 13treT SRR arc A UGTelf d> YT Adel A IcUool afefa gera

D IV. 981z & silgas ucrel @I HIGUT Te B2 3T B Silol 3 AGDd Ucrel grRI

gierRier e srn A
offa feu aru farsedl 3 A A8 3R gforu :

[Question ID = 5134][Question Description = S2_qSNz_PG_FRS_Q69]

A-U,B-1,C-1l,D-LV[Option ID = 20533]
A-1,B-1lll,C-1l,D -V [Option ID = 20534]
A-1,B-1lll,C-1V,D -l [Option ID = 20535]
A-U,B-1,C-1V,D -l [Option ID = 20536]

A w N =

Correct Answer :-
e A-,B-L,C-1,D-LV[Option ID = 20533]

70) Match List | with List Il

List | List Il

A. Rohypnol l. K2

B. Ketamine 1. X

C. Synthetic marijuana [lll. Forget-Me-Pill
D. MDMA IV. Special K

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

et -1 oxett -1l

A, Af3woire l. & 2

B. deifdror Il. oot

C. RiaRk® Fuf spemen Il. wisfc - ot - forer
D. ua. 3l war. uw. IV. a9rer @

ofia fRu o1 el 3 A At I gfom :
[Question ID = 5135][Question Description = S2_qSNz_PG_FRS_Q70]

1. A-1,B-1l, C- U, D -V [Option ID = 20537]
2. A-U,B-L, C-1V,D -l [Option ID = 20538]
3. A-lL,B-1V,C-L, D- Il [Option ID = 20539]
4. A-1l,B-1V,C-L, D -l [Option ID = 20540]

Correct Answer :-

e A-,B-1Il,C-UL,D-LV[Option ID = 20537]
71) Match List | with List Il
List | List Il
Caliber Direction of twist/No of lands and grooves
A. .22" magnum/colt I. Right hand twist / 05




B. .32" / Smith and Wesson Il. Right hand twist / 04
C. 7.62 mm x 51 Ill. Left hand twist / 06
D. 7.62 mm x 39 IV. Right hand twist / 06
Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

Rt -1 Rret -1l

(carT) (gatra bl fomr / igat Us sper ol Iz
A. 22" Jieorat / e |. <RI s1e1 @1 gaira / 05

B. 32" / f¥#er Us ddal Il. SrI arer @t gama / 04
C.7.62uwanuwax51 Ill. &t arer o1 gara / 06

D. 7.62 wat vax x 39 IV. ari s1e1 @1 goira / 06

oiil feu ore famedl 3 A A8 3R gfore :
[Question ID = 5136][Question Description = S2_qSNz_PG_FRS_Q71]

A-1,B-1lll,C- 1L, D -V [Option ID = 20541]
A-1,B-1V,C-L, D- I [Option ID = 20542]
A-U,B-1,C-1V,D -l [Option ID = 20543]
A-1V,B-1l,C- L, D - [Option ID = 20544]

A WN =

Correct Answer :-
e A-|,B-U C-1L,D-LV[Option ID = 20541]

72) Match List | with List Il

List | List 11

A. Live data I. Minimum Allocation Unit

B. Deleted Data Il. Time stamps

C. Swap Space lll. File Allocation Table

D. Slack Space IV. Storage device is used as RAM

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 Rxeht -1

A. cirsa srer |. oolIcId 3IIeicol DD

B. ciiftrea ca (Refies sren) |Il. o Re

C. ¥du FUA Ill. wrset mecot aiferat

D. i@ F0Aa IV. 3031 RBarsa o1 GRieT ¥ @ 3u 3 v sirar 3

offa fou s1o frpeul 3 3 A I gforw ©
[Question ID = 5137][Question Description = S2_qSNz_PG_FRS_Q72]

A-1,B-1lll,C-1l,D -V [Option ID = 20545]
A-U, B-1V,C-1l,D-[Option ID = 20546]
A-1,B- L, C-LV,D-[Option ID = 20547]
A-1V,B-UL, C-,D-[Option ID = 20548]

A W N -

Correct Answer :-
e A-|,B-U C-1,D-LV[Option ID = 20545]

73) Match List | with List Il

List | List Il

A. PCA I. Medial compression of vocal folds

B. IA Il. Longitudinal tension

C. LCA lll. Open vocal folds before thorax enlargement
D. CT IV. Adduction of vocal folds

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -1

A. i 2ft © |. sitercie) 1 AEaradf iaer

B. ar$ © Il. srofSet dotra

C.casfu I11. aer ufsacier 3t yd Rrger &y ddt
D. :ft & IV. &y cicft sifrareor

off<l feu ore fpedl 3 A A8 3R gfore :
[Question ID = 5138][Question Description = S2_qSNz_PG_FRS_Q73]



-1l, B-1,C- U, D-LV[Option ID = 20549]
U, B-1V,C-1,D- L [Option ID = 20550]
-V, B- 1, C-L,D-[Option ID = 20551]
-,B- U, C-1l,D -V [Option ID = 20552]

HwN e
> > > >

Correct Answer :-
e A-I,B-L,C-L,D-LV[Option ID = 20549]

74) Match List | with List Il

List | List Il

I. An examination with the illumination behind the

A. Collati
ofiation document and light passing through it

B. Transmitted
light
examination

Il. The examination of documents employing invisible
radiator beyond the red portion of visible spectra

C. Oblique light lll. Critical comparison or side by side examination

examination
D. Infrared IV. An examination with the illumination at the
examination grazing angle to the surface of a document

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

et -1 et -1l
A |. SISt & W9 Ygiuet aor $R] Sl SRslol dicil YabIor
: T uigror

B. ursIRI 3u gop19l |||, z93 FUaca @ el 3321 A W 3re9d fafepur o1 IuRieT
T usteror @30l dIcl GIAIdsil d UIEIuT

C. 3IYALT YbIor BT

lll. sclireiead qefel 3rerdr AR UIgIuT
arSigror

IV. Grardst @ Adas am JJfSidI DIvT U= YElusl B ATA
adieror

offa fou o1 fRrpeul 3 3 A I gforw ©

D. srazes udlegmor

[Question ID = 5139][Question Description = S2_qSNz_PG_FRS_Q74]
1. A-LV,B-U,C-l,D-1L

[Option ID = 20553]
2. A-UL,B-1,C-1V,D- 1l

[Option ID = 20554]
3. A-1,B-V,C-U,D-1

[Option ID = 20555]
4. A-L,B-1l,C-1V,D-

[Option ID = 20556]
Correct Answer :-
e A-LV,B-U,C-l,D-1

[Option ID = 20553]

75) Match List | with List Il

List | List Il
Developmental Stage Winter season
A. Flies lay eggs I. Within hours
B. 1st instar hatches from eggs Il. 5 days

C. 2nd instar to 3rd instar 1. 1 day

D. Pupa to adult IV. 4 day

Choose the correct answer from the options given below:

Il -1 @1 3 -1l 2 Fafera HifSte © s SlafRce (e Iaxdl) @i Siiaeraa

fercht -| farcht -1




(frprarcsres a=oT) (ofter Hiema1)
A, siftrer 3is St & I. & s 3
B. usen sid®u 3i3 I foraerar 3 Il. 5 &a1
C. g1 sidsu A dkrr sidsu Il. 1 a1
D. w®ur A RR® IV. 4 a1

il fou o1 fyseul 3 I A IR gfom ©

[Question ID = 5140][Question Description = S2_qSNz_PG_FRS_Q75]
. A-1,B-1,C-Lll, D-LV[Option ID = 20557]

. A-LV,B-U,C-1,D-L[Option ID = 20558]

1
2

3. A-1,B-UL C-1v,D- Il [Option ID = 20559]
4. A-1,B-1V, C-,D- L [Option ID = 20560]

Correct Answer :-
e A-[,B-1L,C-LU,D-LV[Option ID = 20557]

76) Match List | with List I

List | List Il

Teeth ( Permanent) Age

A. Central incisors . 9-10th year
B. First Bicuspids Il. 17-25th year
C. Canines 11l. 9-10th year
D. Third Molar IV. 7-8th year

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 et -1l
(a1 o) (arry)

A. 3icer sorfiort I.9-10 ad
B. we¢ arsmufitsa II.17 - 25 ad
C. domsoat . 9-10 ad
D. erd sl IV.7 - 8 ad

il fou o1 fseul 3 ¥ A8 IR gfor ©
[Question ID = 5141][Question Description = S2_qSNz_PG_FRS_Q76]

A-1,B-1,C-UlLD-LV[Option ID = 20561]
A-LV,B- 1, C-L,D-LIL[Option ID = 20562]
A-1V,B-1,C-1L, D-l[Option ID = 20563]
A-U,B-LV,C-L,D-LIl[Option ID = 20564]

A W N -

Correct Answer :-
e A-|,B-1L,C-LU,D-LV[Option ID = 20561]

77) Match List | with List I

List | List Il

A. Pelvis I. Height
B. Dentition Il. Race
C. Length of bone 11l. Sex
D. Prognathism IV. Age

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oz -| oxelt -1l
A. onfor |, ciars
B. aii=zit 1. gafer
C. 539 6t ciard 1. Rier
D. Sgasojr IV. 3y

il fou s1e frpeul 3 ¥ A8 IR gforw ©
[Question ID = 5142][Question Description = S2_qSNz_PG_FRS_Q77]

A-1,B-U, C-1l,D- LV [Option ID = 20565]
A-U, B-1V,C-L,D -l [Option ID = 20566]
A-1V,B-1l,C-1, D -l [Option ID = 20567]
A-U, B-1V,C-l,D-[Option ID = 20568]

A W N -

Correct Answer :-
e A-|,B-LU,C-I,D-LV[Option ID = 20565]



78) The CORRECT sequence regarding the basic concept of crime investigation is
A. Crime scene management

B. Discovery of crime

C. First officer response

D. Reconstriction of crime

Choose the correct answer from the options given below

IURTEI 3rofelel bt FeT AN A B 3 :

A. 3razIer Fd yderel

B. srumrer sredwur

C. ga AferpRl & segfpn

D. srazrer & goergzafer

ofi o s1u fmeul & A A8} 3T @I wRI6T HifsrT :

[Question ID = 5143][Question Description = S2_qSNz_PG_FRS_Q78]

B, C, D [Option ID = 20569]
B, A, D [Option ID = 20570]
, C, D, A [Option ID = 20571]
C, A, D [Option ID = 20572]

A WN -

Correct Answer :-
e A, B, C, D [Option ID = 20569]

79) Arrange the separation technique according to increasing order of sophistication
A. Fractional Distillation

B. GC-TCD

C. Sieve

D. TLC

Choose the correct answer from the options given below

Gqmv] ddoildl Pl JoId UfSamul @ RIS @ 3 JralFerd o3 :

A. gersit simraet

B. Sfizh. - &. it St

C. acroft

D. sl ofl. - vat w3 - wAH T

E. & e 3t

il fou o1 fraseul 3 3 A IR BT w6l HIfSIE :

[Question ID = 5144][Question Description = S2_qSNz_PG_FRS_Q79]

C<A<E<D< B[Option ID = 20573]
C<A<E<B <D [Option ID = 20574]
A< C<E<B<D [Option ID = 20575]
C<A<B<E <D [Option ID = 20576]

A W N -

Correct Answer :-
e C<A<E<D=< BJ[Option ID = 20573]

80) Standing from electron gun which one of the following is the CORRECT sequence for SEM
A. Stage

B. Anode

C. Magnetic lens

D. Backscattered electron detector

E. Scanning coil

Choose the correct answer from the options given below



Aol 3Tel A 9% 3l B2 forrfciRaa 3 A let v § wa o1 A8 oA 3 ?

A. ¥t

B. wolls

C. Jafew o

D. §® ¥dcS scladglal 3eace

E. dfoisr qarta

ofid fou o1 feseal & A A8 IR BT <RIt BT :

[Question ID = 5145][Question Description = S2_qSNz_PG_FRS_Q80]

A, E, B, C, D [Option ID = 20577]
. D, A, C, E, B [Option ID = 20578]
C, B, D, E, A [Option ID = 20579]
B, C, E, D, A [Option ID = 20580]

» by

» By

A wWw N -

y =y by

Correct Answer :-
e A E, B, C, D[Option ID = 20577]

81) For a given camera, the CORRECT sequence of the lens opening (aperture setting) is:
A. F-2

B. F-8
C. F-10
D. F-12
E. F-22

Choose the correct answer from the options given below

fop2tt darer B fore ci faaz (3g) o) o1 218 o 3 :
. F-2
F-8
. F-10

O N w >

. F-12

E. F-22

il fou o1 frapeul 3 2 & IR BT a6l HIfSIE ¢

[Question ID = 5146][Question Description = S2_qSNz_PG_FRS_Q81]

1. A>B>C>D > E [Option ID = 20581]
2. B>A>C>D>E [Option ID = 20582]
3. E>D>C>B>A [Option ID = 20583]
4. D>B>C>A>E [Option ID = 20584]

Correct Answer :-
e A>B>C>D>E [Option ID = 20581]

82) The CORRECT sequence of boiling points of various component of gasoline is:
A. iso-pentane

B. n-pentane

C. iso-hexane

D. n-hexane

E. n-heptane

Choose the correct answer from the options given below

Sichior @ fafder dacdl & aaerelic o A8 T 3 ©
A. 33l - Ueor

B. wel - teor

C. sl - 3aRIel

D. ot - a6l



E. wal - 3wal
il fou o1 fyeseul 3 21 & Fa= goi ¢
[Question ID = 5147][Question Description = S2_qSNz_PG_FRS_Q82]

A>B>C>D>E [Option ID = 20585]
B>A>D>C>E [Option ID = 20586]
E>D>C>B>A[Option ID = 20587]
E>C>D>A> B [Option ID = 20588]

A W N -

Correct Answer :-
e A>B>C>D>E [Option ID = 20585]

83) The CORRECT sequence of the glass manufacturing process is
A. Melting

B. Forming

C. Annealing

D. Secondary process

Choose the correct answer from the options given below

ia oI forfor gfpm o1 218t @t 3 :

A. RrEeren

B. soiren

C. 3reficia

D. fadtae yfegan

il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 5148][Question Description = S2_qSNz_PG_FRS_Q83]

B, C, D [Option ID = 20589]
A, C, D [Option ID = 20590]
, A, D, C [Option ID = 20591]
D, B, C [Option ID = 20592]

A W N -

)

Correct Answer :-
e A, B, C, D [Option ID = 20589]

84) The CORRECT sequence for the examination of fingerprint as per SWGFAST guidelines is:
A. Analysis

B. Comparison

C. Evaluation

D. Verification

Choose the correct answer from the options given below

T3 Sec3 Sit U € v & fRonforcor @ sigpaAR sipIfereTa & Sstie @ Wé o 8 ¢
A. frawur

B. qctolr

C. Jcaioot

D. Jrcarust

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 5149][Question Description = S2_qSNz_PG_FRS_Q84]

B, C, D [Option ID = 20593]
A, C, D [Option ID = 20594]
, C, A, D [Option ID = 20595]
D, A, C [Option ID = 20596]

A W N -

Correct Answer :-
e A, B, C, D[Option ID = 20593]

85) The CORRECT sequence of the process in a biometric recognition system is:

A. Acquisition



B. Feature selection

C. Feature extraction

D. Identification / Verification
E. Performance evaluation

Choose the correct answer from the options given below

Stafdrefies usarer ugfer d gfegzmsil o1 38 o 3 :

A. 3rsfet

B. bkR =Iar

C. bR forsour

D. usarel / Jcamaet

E. forsufer / Feaiavor

ofla fou s1e fyeseul 3 3 & Fa= goi ¢

[Question ID = 5150][Question Description = S2_qSNz_PG_FRS_Q85]

D, E [Option ID = 20597]
D, E [Option ID = 20598]
, C, E [Option ID = 20599]
C, E [Option ID = 20600]

Hwbh=
> > >
O W

Correct Answer :-
e A, C, B, D, E [Option ID = 20597]

86) Given below are two statements:

Statement |: When tablets or capsules are found in the immediate vicinity of, or in the possession of, an unconscious
patient, it is reasonable to assume that a drug overdose has been taken

Statement [l: When circumstantial evidence is lacking, a diagnosis of poisoning may be difficult to sustain on the basis of
clinical examination

In light of the above statements, choose the correct answer from the options given below

ofi <Y werot fu a1w 3 ¢

@ - | : afe fpeil srda A% @ URT AT 3AD 3MR1 -URI Cdclc Al DRYCT RIS I 3 dl A Alololl AWM 3 fob raferd Ay I Aaal =
SRIT 3

oo - |l : uffRefese:n gl @ spima 3 dac RifdpedRa Siia @ MER UR A8 Psoll Bfdel 3l Addl 3 fb frirpar ¢ 3
IWRID Bl @ el 3, il f5u s fRrevedl 3 A A8} IR DI wRIet HIfde :
[Question ID = 5151][Question Description = S2_qSNz_PG_FRS_Q86]

1. Both statement | and statement ll are true/erer | 3z |1 Sleil 31 & [Option ID = 20601]

2. Both statement | and statement ll are false/@emt | i || Sell sRir & [Option ID = 20602]

3. Statement lis true but statement ll is false/@sermer | 3 &, cifdpar @weret |l sRir & [Option ID = 20603]
4. Statement l is false but statement l is true/memel | srRI 8, ciftbel werel || A & [Option ID = 20604]

Correct Answer :-
e Both statement | and statement | are true/eret | 3i Il Slali 3 & [Option ID = 20601]

87) Given below are two statements:

Statement l: The spectral response, quantum efficiency, sensitivity, and dark current are determined by the composition of
the photo-cathode

Statement l: The best photocathodes capable of responding to visible light are less than 30 percent quantum efficient

In light of the above statements, choose the correct answer from the options given below

il &1 erer Ru ame 3 :

Dol - | : Facggil eIfdp, adicd geIdr, JNIBAT MR IETH LRI DI LRI BICIDAIS oI el A Bidl &
@l - || : z9a yor91 B yfer sigjfeprn 3 g Adiaa wicidens 30 yferora wa aaicd <8 ald &

JURITP Dol D 3Tl 3, ol fGu s1u fdeul # 1 3 3= @1 =161 HifSte &

[Question ID = 5152][Question Description = S2_qSNz_PG_FRS_Q87]



Both statement | and statement l are true/wmemr | 3iiz 11 Gleil 21 & [Option ID = 20605]

Both statement | and statement Il are false/@erer | 3z 11 @lail 3t 3 [Option ID = 20606]
Statement | is true but statement Il is false/memor1 | 311 8, fpog et || sRI=r & [Option ID = 20607]
Statement | is false but statement ll is true/@peret | srIcI 8, fbog @erer || 3w & [Option ID = 20608]

A W N -

Correct Answer :-
e Both statement | and statement Il are true/a@emr | 3i2 |l Gleil A1 & [Option ID = 20605]

88) Given below are two statements:

Statement [: Metalic arsenic is not poisonous, as it is insoluble in water and therefore incapable of absorption from the
alimentary canal.

Statement ll: It oxidizes by exposure to the air, and then becomes poisonous

In light of the above statements, choose the correct answer from the options given below

il ol el fdu sre 3 ¢

@l - | : enfeas sRiforas faiier o18l dlar 3 arilfes A6 sicr A gerorofier o1&l 3 iz sAfeTU SMBR - oIret 3 3BT IJANYUI 18l BTl &
@ol - || : a1 @& Auds 3 36l D 916 A sifafiaa Sl fadien oot Sirdr 8

JURITP Dol D 3Tl 3, ol fSu 31u fameul 3 A A8l 3= @1 w6l HifsTe ©

[Question ID = 5153][Question Description = S2_qSNz_PG_FRS_Q88]

1. Both statement | and statement Ll are true/@sermer | 3iiz | gleif 31 & [Option ID = 20609]

2. Both statement | and statement l are false/aerat | 3iiz || Gleil spicr 8 [Option ID = 20610]

3. Statement L is true but statement [l is false/wmemwer | 311 8, febog et |l 3R & [Option ID = 20611]
4. Statement l is false but statement l is true/@ere | sRII 3, fbog et || 3=r & [Option ID = 20612]

Correct Answer :-
e Both statement | and statement Il are true/@pere | s |l S6ll 3 & [Option ID = 20609]

89) Given below are two statements, one is labeled as Assertion A and the other is labeled as Reason R
Assertion A: The country-made weapons are more or less useless when fired from a long distance

Reason R: The velocity loss of the standard ammunition, when fired from the country-made firearms, are drastic due to
incomplete combustion, escape of gases, and wastage of energy

In light of the above statements, choose the most appropriate answer from the options given below

ofid 31 werot Ru s 31 uop sifdrverct (A) & wu 3 feiRaa & a garr 33d orRvr (R) & wu 3 :

sifdraeret (A) : g2 3 3l s uR S9ft ¢ cenET SigIuRNeT 31 &

@Rt (R) : Soft sEcraRgl 3 3licl gPIol UR JATeid MRIEI 3 Ui ol 1l @ fOoTPRI 3R il ¢RI @ PRUI dsil A dST TRI Il 3
JWRITD DIl D IATelD 3, ofd fEu s1u fRipedl 3 A AT IUYTD IR DI Rl HIFT :

[Question ID = 5154][Question Description = S2_qSNz_PG_FRS_Q89]

Both A and R are correct and R is the correct explanation of A /(A) 3iiz (R) cleil 38t 3 3z (R), (A) &t 3 waren & [Option ID = 20613]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) Sl 3&t & wesq (R), (A) &t 3 s o1dt & [Option ID = 20614]
A is correct but R is not correct/(A) &l & weoq (R) 2@l oét & [Option ID = 20615]

A is not correct but R is correct/(A) & ot 2 weag (R) 3& & [Option ID = 20616]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A /(A) 3iiz (R) cleil &t & 3iiz (R), (A) &l 38 == & [Option ID = 20613]

90) Given below are two statements:

Statement I: The design of letters may be an eye-catching feature, however, the characteristics of execution of writing are
the corner stones of accurate identification

Statement ll: Identification rests not alone on a similar combination of identifying attributes, but also on a coexistent lack of
basic divergencies between the questioned and standard writing

In light of the above statements, choose the correct answer from the options given below

ofiY A1 werol R a1w 3 :
@l - | : 31gRI &l el rptie fIddr 31 A@dl 3, aIdifes clact & AFUICH Dl fIIHare A¢ke usdrel Bl LR 3

@l - |l : usare of dac 3yull Bl usdrel @ ATl RISl UR 3l dfed Yostord 3R Alold cldol @ i JieT MURRVIl & ATA - AT of Blol U sft
forsfz @z 3



SWRIFD DUoll @ 3MIelld #, ofld 16w 31w fpedl 3 A AR IUuYTP IR DI TRIol DI ©
[Question ID = 5155][Question Description = S2_qSNz_PG_FRS_Q90]

1. Both statement | and statement Il are true/@erer | sz || el 3= & [Option ID = 20617]

2. Both statement | and statement Ll are false/@eet | iz || Siell sRica & [Option ID = 20618]

3. Statement lis true but statement [l is false/emr | 3= &, fepoq e |l srir & [Option ID = 20619]
4. Statement L is false but statement ll is true/eret | it 8, fbog @erer || A= & [Option ID = 20620]

Correct Answer :-
e Both statement | and statement [l are true/aemr | 3i2 |l Gleil A1 & [Option ID = 20617]

Topic:- FS_B

1) Read the given passage carefully and answer the questions that follow

An adolescent girl in a village had fallen in love with a boy of the same village. The families of both did not agree upon their
marriage. The sarpanch of this village had two young sons. One of these also started liking this girl but this girl never
responded to him. Though the families had decided against their marriage, this girl and boy continued to meet each other
on one or another pretext, which was not liked by the brother of this girl. One fine day this girl along with her mother went
towards the nearby field and the villagers also saw one son of sarpanch along with his friend passing this field. Later a
passerby found the dead body of this girl in a half-naked position in the said field. The same was informed to the police. 10
on reaching this spot started enquiring the villagers since no CCTV was installed. Many witnesses supported the statement
that they had seen the son of sarpanch and his friend near this field around the same time when this girl and her mother
went to this field. Meantime, an eye witness also came forward and confirmed that the mother and brother ( who probably
had already reached to this field before his sister and mother) of this girl killed her to save the dignity of their family.

fogatferRaa srerior @l earegde ufgu iz 34U s1e yosil & Iar difSte ©

fep2il stiq bl fpoie A anferapt 3l sTid @ us dreld & Ygruarer A ¢ 31 arcie 3iR FIferp! Sloll & uf¥siel Jotad> URURI ¢ 3 el & yama A
JBAA G A A A DINRAA DA GG A ol Sloll A A 9l TP IA TSI Pl URIG D! vl [dbod 5 15l of IAD Yfer pal off oIS st
gferfipan oep o8l bt It Qiell uf¥ar @ Gl 3 3o fdare & yzara o1 feRIer o o1, denft asdhl 3z s gloll fop=il of b=l Teret A
T g3 A Biera 33 aIsdl @ 4IE Dl A Jdld =1 ofdl R P ol As 15l Uil Jif @ AT urRd @& Wd ol 3k 3% 3ii= sTiaarcil of I_uT D
U J2 Pl o 31Ul SIe @ ATA 33 W A ISR U W AT €16 I AR DI 33 VN 3 31 arshl oI 9/ 31¢f otoo1 Rrerfer 3 feard fen  gfer
Pl DI IYaoll €1 318 TCall T2l UR Ugdol UR cduul f2BT of sTiadrcil A Yodrs ®oll 9 s ariifes acett Fera ur 1S Hiiédt
Avenfied odl e 9ga A AMRIL o 53 Al D1 W3elel fop=n b Ioaiol M IR WU D A 3R IAD I DI Wl D 3MIRT URT ST AT S A8
ezl 3z DT AT W 3 31 ofl. s dia v yrasgicoff w0l iR 31k 331 aga & gfte & o5 af 3R 331 crschl @1 o (Sl Fvaa: 3h! 6ol
3iiz 3 3 usdl Wd uga gD A) of el ular o AFrel Bl 28 Bt D 1w 3A sl HY s B2 &

Which of the following evidence shall be analyzed in a suspected case of rape
A.Examination of footprints

B.Examination of undergarments

C.Examination of vaginal swab

D.Examiantion of cigarette butt

Choose the correct answer from the options given below:

ScllcpR @ ifcoer ararcil 3 forrorfeiRaa 3 A v g @1 fcdyvr g sresT :
A. urcfrsl &l st

B. siq:azq (3iswImRdical) &t siia

C. Aforra Fa &t stia

D. BrRe @ ac &l sita

ofid fou a1 el 3 A A8t Sz gt ¢

[Question ID = 5156][Question Description = S2_qSNz_PG_FRS_Q91]

A and B only/d>qet A siiz B [Option ID = 20621]
A and C only/dbaet A siiz C [Option ID = 20622]
B and C only/dqct B siiz C [Option ID = 20623]
C and D only/dsaet C siiz D [Option ID = 20624]

A wWw N -

Correct Answer :-
® Aand B only/@act A iz B [Option ID = 20621]

2) Read the given passage carefully and answer the questions that follow



An adolescent girl in a village had fallen in love with a boy of the same village. The families of both did not agree upon their
marriage. The sarpanch of this village had two young sons. One of these also started liking this girl but this girl never
responded to him. Though the families had decided against their marriage, this girl and boy continued to meet each other
on one or another pretext, which was not liked by the brother of this girl. One fine day this girl along with her mother went
towards the nearby field and the villagers also saw one son of sarpanch along with his friend passing this field. Later a
passerby found the dead body of this girl in a half-naked position in the said field. The same was informed to the police. 10
on reaching this spot started enquiring the villagers since no CCTV was installed. Many witnesses supported the statement
that they had seen the son of sarpanch and his friend near this field around the same time when this girl and her mother
went to this field. Meantime, an eye witness also came forward and confirmed that the mother and brother ( who probably
had already reached to this field before his sister and mother) of this girl killed her to save the dignity of their family.

forraiferRaa srerior ol earolgdes ufgu 3z féu s1w yesil & 3= difSe :

fep=it s1ig b1 PN d aifert 3=l sl @ U dIcid & YAUIl 3 &¢I 31¥  |IclD 3R JIferpI Gloll @ Ul¥siel o1 UfuRI g 3 deol D gFad A
JMBAA G A A MA DINRUA DA GG A Fol Sloll A A 9l Tb IA cISDI DI URIG Bl ool [boq 5 sl of IAD yfer ol off dIS st
gfeifipRn b o8l bt et Srell uf¥ar @ A6l 3 o1 fdare B yzara o1 feRier b e, denft sl iz as®I goll fop2il of bl Tarer A
T IR A Berd B Il D HIE DI As Jdld IR ofdl RN TP ot As sl 3ofl AT D AT URT D Wd Bl 3R 31 3R sligardl of I D
TP A DI ol UGl SIFA D AT $A VA A ISR U ST AT §I6 3 AR DI 33 W 3 3 arsl @I 9/ 3nef oot Rrerfer 3 s R gferar
Pl AhI IYarol €1 318 Tcall FeUCT UR UGdol U= 3cduuT fABTI of sTiadrcil A YPdrs doll 93 v ariifds acetr Ferar ur oI AHiiddt
It oiél a1 Sga A AMSRIT of A Al DI el [bar [ Ioalol AT FIRT FRUT D d¢ 3R IAD GIRA DI WA D 3URI URT SHI AT S5 AS
el 3z IADI AT W 3 o1 ofl. sl dfia v yYragrcoff w6l 3R 31k A aga & gfte & &5 #f 31z 331 crsdhl @1 s (i Fvaa: 33h! ot
3z #f 3 Uzl W uga gD A) of et UularR o AFATel Bl 8 Bt D 1w 3A sl HY e B2 &

Which evidence of these is of no use to conclude the cause of death
Pcg D DPRUI O a1 A forcad Uz ugdol @ fe1Q sotdl A b A1 DI BIE IuMNGT oIl 3 -

[Question ID = 5157][Question Description = S2_qSNz_PG_FRS_Q92]
Ligature mark/gwavt r& [Option ID = 20625]

Protruded tongue/3s3t ¢ Sfter [Option ID = 20626]

Grievous injury/sisfiz ama [Option ID = 20627]

Contusion/sftet us el (Poczsiel) [Option ID = 20628]

A WN -

Correct Answer :-
e Ligature mark/gepavf fas [Option ID = 20625]

3) Read the given passage carefully and answer the questions that follow

An adolescent girl in a village had fallen in love with a boy of the same village. The families of both did not agree upon their
marriage. The sarpanch of this village had two young sons. One of these also started liking this girl but this girl never
responded to him. Though the families had decided against their marriage, this girl and boy continued to meet each other
on one or another pretext, which was not liked by the brother of this girl. One fine day this girl along with her mother went
towards the nearby field and the villagers also saw one son of sarpanch along with his friend passing this field. Later a
passerby found the dead body of this girl in a half-naked position in the said field. The same was informed to the police. 10
on reaching this spot started enquiring the villagers since no CCTV was installed. Many witnesses supported the statement
that they had seen the son of sarpanch and his friend near this field around the same time when this girl and her mother
went to this field. Meantime, an eye witness also came forward and confirmed that the mother and brother ( who probably
had already reached to this field before his sister and mother) of this girl killed her to save the dignity of their family.

forgatferRaa srerior ol earegde ufgu iz 3w s1e yosil & I difSte ©

fep2il stiq bl fpoile A anferapt 3l sTia & U drcid @ Ygruarer 3 e 31 arcie 3iR dIferpT Sloll & uf¥siel Jotd URURI ¢ 3 derol & yama A
JMBAA G A A M DINRAA DA GG A ol Sloll A A 9l Tb IA TSI Pl URIG Bl vl [bod 5 15l of IAD yfer pal off dIS st
gferfipzn oeb o8l bt It Qiell uf¥ar @ AGHIl 3 Soid fdare & yzara o1 feRier b o1, denft asdhl siiz s dloll fop=il of b=l Teret A
TP g3 A B 33 asdl @ 1IE Dl A Jdld =1 ofdl 3R P ol As 15l Uil dif @ AT urRl @ d @l 3 3¢ 3ii= siiadrcl of I_udT D
U J DI of 3rUol Sl O ATA A W A ISR U W AT €16 I AR DI 33 VN 3 321 ars<hl oI 9/ 31ef otoo1 Rrerfer 3 feard e gferr
Pl DI IYarol €1 318 TColl FeUCT UR Ugdol UR 3cduuT f2BT of sTiadrcil A Yodrs @il 93 s ariifs #cett Ferar ur oIS AHiiédt
Avenfud ol em 9 A AMRIL o 531 Al D1 W3elel fop=n b Ioaiol M AR WUA D A 3R IAD I DI Wl D 3R URT ST AT S A8
e13<bl 3z DT AT W 3 31 ofl. s dia v yragicoff ARl iR 31k 33 aga & gfte & fop af 3R 331 crschl @I o (Sl Fvaa: 3! d6ol
3z 3 3 usdl Wd ugd gD A) of el ularR o AFATel Bl 28 Bt D e 3A sl HY s B2 &

The clothing of the victim shall be sent to which division of Forensic Science laboratory:
difsar @ uf¥ensr @1 AR fser gRIieInen @ b1 gaieT 3 8ISl Sieen ©

[Question ID = 5158][Question Description = S2_qSNz_PG_FRS_Q93]



Biology/sfia fasirer [Option ID = 20629]

Toxicology/fw fsirer [Option ID = 20630]

Questioned document/ysirus yeza [Option ID = 20631]
Fingerprints/s@ferema [Option ID = 20632]

A W N -

Correct Answer :-
® Biology/sfia frsmer [Option ID = 20629]

4) Read the given passage carefully and answer the questions that follow

An adolescent girl in a village had fallen in love with a boy of the same village. The families of both did not agree upon their
marriage. The sarpanch of this village had two young sons. One of these also started liking this girl but this girl never
responded to him. Though the families had decided against their marriage, this girl and boy continued to meet each other
on one or another pretext, which was not liked by the brother of this girl. One fine day this girl along with her mother went
towards the nearby field and the villagers also saw one son of sarpanch along with his friend passing this field. Later a
passerby found the dead body of this girl in a half-naked position in the said field. The same was informed to the police. 10
on reaching this spot started enquiring the villagers since no CCTV was installed. Many witnesses supported the statement
that they had seen the son of sarpanch and his friend near this field around the same time when this girl and her mother
went to this field. Meantime, an eye witness also came forward and confirmed that the mother and brother ( who probably
had already reached to this field before his sister and mother) of this girl killed her to save the dignity of their family.

forgotferRaa srerior @l earegde ufgu iz 3w s1e yesil & I difSte ©

fop2il stia bl fpoile A anferast 3l sTid & Uas dreled @ Ygrarer i der 31 arcie 3iR dIferept Sloll & uf¥siel Jotadd URURI ¢ 3 derol & yzama A
IBAA G A A M DINRUAA DA GG A ol Sloll A A 9l Tb IA cTSDI DI URIG B! ol [bo 5 sl of IAD yfer bl off dIS st
gfeifepR e ofdl bl =Ift Sioll uf¥ar @ el 3 o fare @& geara a1 fRier e o, denftr asdl iR asaI Slell fipil o fepfl Tl A
T IR A BIeid @ arsdhl D HIE DI As Jdld IR oidl RN TP ol As sl 3uoil AT D AT URT D Wd Bl 3R 31 3R ligardl of FuUd D
U J2 I off 31Ul Sl o ATA 3 W A ISR 3T ST AT 916 I AR DI 33 VA I 3 arshl oI 9/ 31ef oro01 Rrerfer 3 feard e gferr
Pl AhY IYarol €1 318 TColl FUACT UR UGdol UR cdHUT fABT of sTiadrcil A YPdrs woll 9 v ariifes Treett Ferar ur o1 Hiiddt
It oiél a1 Sga A AMSRIT of 7 =l DI Aol [T [ Ioalol AT HIRI FRUT D d¢ 3R IAD G DI WA D 3R URT SHI AT S A8
er3<hl 3z DT AT W 3 o1 ofl. s dia v yragicoff w0l 3R 31k 33 aga & gfte & o5 af 31 331 crschl @1 g (Si Fvaa: 33h! d6ot
3z 3 3 Uzl W uga gD A) of el ularR o AFATel Bl L Bt D 1w 3A arsdhl HI e B2 &

Which of these tests shall be conducted on suspects to confirm their involvement in the rape of the victim in this case:

A Y2t 3 HifSar @ aarcor 3 o dlar & Fifdoer IRIRIT @1 dwlol AT ulevr s s

[Question ID = 5159][Question Description = S2_qSNz_PG_FRS_Q9%4]
1. DNA and drug analysis/st wet © siiz siufer faeaswor [Option ID = 20633]

2. DNA and serology /3t wat © 3iiz 2fidciist [Option ID = 20634]

3. Drug analysis and serology/sfiufer feaduur siiz felist [Option ID = 20635]

4. Toxicology and fingerprints/fim fersiret siiz sijfersma [Option ID = 20636]

Correct Answer :-
e DNA and drug analysis/t uel © iz siufér faecsuor [Option ID = 20633]

5) Read the given passage carefully and answer the questions that follow

An adolescent girl in a village had fallen in love with a boy of the same village. The families of both did not agree upon their
marriage. The sarpanch of this village had two young sons. One of these also started liking this girl but this girl never
responded to him. Though the families had decided against their marriage, this girl and boy continued to meet each other
on one or another pretext, which was not liked by the brother of this girl. One fine day this girl along with her mother went
towards the nearby field and the villagers also saw one son of sarpanch along with his friend passing this field. Later a
passerby found the dead body of this girl in a half-naked position in the said field. The same was informed to the police. 10
on reaching this spot started enquiring the villagers since no CCTV was installed. Many witnesses supported the statement
that they had seen the son of sarpanch and his friend near this field around the same time when this girl and her mother
went to this field. Meantime, an eye witness also came forward and confirmed that the mother and brother ( who probably
had already reached to this field before his sister and mother) of this girl killed her to save the dignity of their family.

fogatferRaa srerior ol earegde ufgu iz 34U s1e yesil & I difSte ©

fop2il stiq bl fpoile A anferapt 3l sTid & U dreld @ Yruarer 3 «ef 31 arcie 3iR dIferp! Sloll & uf¥siel Jotd> URURI ¢ 3 deol & yama A
JBAA G A A A DINRAA DA GG A ol Sloll A A 9l TDb IA TSI Pl URIG Bl ol [dbod 5 15l of IAD yfer pal off oIS st
gferfipan oep o8l bl It Siell uftar @ Gl 3 3o fdare & yzdara o1 feRier o o, denft asdhl siiz oS gl fop=il o b=l Teret A
T g3 A Biera 33 aasdl @ HIE DI A Jdld =1 ofdl 3R TP ol As 15l Uil dif @ AT uRl @& Wd oI 3k 3% 3ii= stiadrcl of I_uT D
O J2 I of 31Ul Sl o ATA A W A ISR U ST AT €16 I AR DI 33 W 3 321 arshl oI 9/ 31¢f otoo1 Rrerfer 3 fard fenm  gferr
Pl $AhI IYaoll €1 318 TCall T2l UR Ugdol UR A uul f2BT of sTiadrcil A Yodrs doll 9 s ariifes #cett Ferar ur oIS AHiiédt



AvenfUed odl e dga A AMSRIT o 531 SRl D1 Aol fepn b Ioaiol M A WU D 9 3R IAD I DI W D 3R URT ST AT S A8
cIsl 3iiz bl AT W 3 5 off. 31 dia vp gragicoff ARE R 3R 31 agr &l gfte &l o5 #f 3iiz 331 casdl @1 arg (Sl FHaa: Il Tsol
3z #f A usdr W ugd ga> ) of 3ol URAR & HIATeT B I Bl D fore 3A asdl bt seanm a2 &

What would be the other sources for 10 to investigate the involvement of all suspects in this case:
A. CCTV

B. Mobile phone

C. Cigratte built

D. Soil

Choose the correct answer from the options given below:

331 HAEIcT 3 Mol 2ifSser cafepel ot ziferaan bt St wel & fore Siia If2PRt & URT Iucreel 36l IYId =T iol &
A. M0

B. sllarser wiol

C. BpRe oI s

D. fargt

il f3u s1e fraseul 9 31 & Ia= goi ¢

[Question ID = 5160][Question Description = S2_qSNz_PG_FRS_Q95]

A and B only/d>qet A siiz B [Option ID = 20637]
A and C only/dbaet A siiz C [Option ID = 20638]
C and D only/a@aet C 3fiz D [Option ID = 20639]
B and C only/@aet B 3iiz C [Option ID = 20640]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 20637]

Topic:- FS_C

1) Read the given passage carefully and answer the questions that follow

Many females started disappearing in a particular area of a city. Their families tried to lodge their complaint but the name
was not registered as the police officer on duty did not give any heed to their complaint. After few days, more females
went missing, and finally, the residents of that village went to the higher authorities of the police department.
Subsequently, FIR was lodged. Police started an investigation of this case. since there was no CCTV installed in that area, 10
depended on many quires on eyewitnesses. One of the witnesses stated that he had seen a girl entering this house. He had
taken her there on the pretext of the part-time job but did not see her coming back from the house till the evening of that
day. 10 went to this house, started looking for some evidences. He located few body pieces along with a sharp big knife
(Kitchen Knife) lying in the bathroom which was used exclusively by this servant. The servant was arrested. On further
investigation, many more body parts were recovered from the backyard of this house.

On questioning this servant, he confessed that much more body parts were disposed off in the nearby sump, which was
collected by a team of cleaners under the supervision of investigating agencies and doctors involved in this case. These
body parts were sent for examination. 10 canceled many other items like hairpins, hairbands, rings, bangles, etc from this
house. The owners of this house were also arrested on suspicion.

feu 319 srerion @Y eATeIgd® U 3z forerfeiRaa gosil & 3R & ¢

fop2il 918 @ v fA9W & fa9y 3 srold AfBeIE SR Bloll 9Rs 3l 91 IoId ul¥arareil of 3ruoil AIPRIA gst w26l I YART v PR 4 Br
B o8l ADR P FE TR Tolrd gfert ifraprl o Sorchl PIPRIA U= &i6l ol R o 6l & are siiz oft aifded sIRM 3 o1 sidd: 3
alid @ foraril yfers fasmer @ Scaaz sferoril o urd 31 3 33D 91 Ud Ub 3$ 3R <ol g8 Yot of $3 Al DI Jolierrol 9 fooam gbl
3 el A DI ARMNEART o1dl e dl soie Yosll @ fere Sifa 3ifirpRl YieeiORil ur fonlk o1 vos srars of SdrI & Al 51 @R # U asdl @l 57
I D ollb: @ AT SIId SWT AT a8 3 a1 MIBIID oilap3l o JaIol TIRIT 8T AIfdbol 3ol IA ISl DI IA 9IH TR A FaIR 3T oIdl ST T
Sifa 3if2rprl 331 @R 3 SR 311 3ol BB AT AC! 9B fPu R Dact il CRI YU fepu Sl arcl d1eRsd 3 U §31 8RGR ardy, (fpdot
SIIE6) 3R 9RIR B TB 3°1 BT 3 cll: Bl PRUAR @2 R SR 319! 3R Sifa & SRIGI 3 IR & fUBars A 9Kk & 3R 3iFT TREIG U 3A
Slib? 3 YPAIs & Sl 3ol THDR v 5 o¥ls & iz agd AR 3001 URI @ U offcl & 31l 918 3, fied sifar woizft 3iir 331 amerar & onfdrer
fRifdscam] & forRIch A v AWIE Bl g GRI SdIc 5T SR 9 @ $o 3ivll @) Sifa @ fe1u ST s ST IfAIBE of 3 T2 A 6D 3oq
aqu, Sl RR e, &R TS, splcAl, gisl scafc REIG B 31 #R D HIferd @I o e D R R Brudar s sk

Under which section of IPC the servent of this house be arrested



I G5 JAfEar &l b emRI & dad 3 TR D sl Bl PrRudR fés=m sies ?

[Question ID = 5161][Question Description = S2_qSNz_PG_FRS_Q96]
1. 498/498 [Option ID = 20641]
2. 205/205 [Option ID = 20642]
3. 375/375 [Option ID = 20643]
4. 204/204 [Option ID = 20644]

Correct Answer :-
® 498/498 [Option ID = 20641]

2) Read the given passage carefully and answer the questions that follow

Many females started disappearing in a particular area of a city. Their families tried to lodge their complaint but the name
was not registered as the police officer on duty did not give any heed to their complaint. After few days, more females
went missing, and finally, the residents of that village went to the higher authorities of the police department.
Subsequently, FIR was lodged. Police started an investigation of this case. since there was no CCTV installed in that area, 10
depended on many quires on eyewitnesses. One of the witnesses stated that he had seen a girl entering this house. He had
taken her there on the pretext of the part-time job but did not see her coming back from the house till the evening of that
day. 10 went to this house, started looking for some evidences. He located few body pieces along with a sharp big knife
(Kitchen Knife) lying in the bathroom which was used exclusively by this servant. The servant was arrested. On further
investigation, many more body parts were recovered from the backyard of this house.

On questioning this servant, he confessed that much more body parts were disposed off in the nearby sump, which was
collected by a team of cleaners under the supervision of investigating agencies and doctors involved in this case. These
body parts were sent for examination. 10 canceled many other items like hairpins, hairbands, rings, bangles, etc from this
house. The owners of this house were also arrested on suspicion.

fou a1u srErior @Y eATeIgd® U 3R foreifeiRaa gosil S 3R S ¢

fop3il 9182 @ v fa9 & fad 3 srold Afdele SIRIE Bloll 9P 8l 918 Iold> ul¥arareil of 31uoil fAIPRIA g5t w6l @I yART fvar PR d Br
@A ol ADR FRIife $YE U ot yferdt ifr1dl of o1l [OrwRIa Uz &alol offl & @ 6l @ arc sii? 9t aifdend sIRM 381 31 sidd: 39
alid @ foraril gferT fasier @ scaar sffoRiIl @ urd 31u 3R 3A® dIc Ud> U 311$ 3R &5l g5 YfCRT of $1 HIHcl I 3iofAeliel 95 fban gebl
3 el A oIS ARMEART 18l e dl sl ygell @ fere Sifa sififroRl giaeiORil uz foniz o1 wos smars of sarI & 3l 531 @R # U asdl @l 59
g3 @ olib: D AT SIKY ST AT a5 IA dal HUDIID oilab3l & SBIel IR o1 cifdsel 3ol IH ISl DI IA A €2 A SR I ofdl ST AT
Sifar SIferBTst 331 TR 3 SR 3R 3ol TP AL dcl9ll 9F RPU 3 Bad slld FRI YIH 6T Sirel ardl drersd i Ud o131 ¢ReR a1y, (fsaer
SIIE®H) 3R IR B BB 31 BT 3 cllp: Bl PRUAR &2 RN SR 31191 1R Sifd & SRIGI 3 IR @ fUBars A 98k & 3 3iFT SRS 3T 3A
Silp? 3 YPars @ Siel 3ol FHPR v 5 9¥e & iz agd AR 3001 URI @ Ud ofrdl & 31t 918 3, fred sifa weizfl iz 331 amerar & onfdrer
fRifdscarm] &b forrRIch A T AWIE Bl g GRI SdIg 5 SR 98l @ $o 3ivll @I Sifa @ fe1u 9iSIT s ST IfAIBE of 33 a2 A 361D 36A
aqu, SRl &R fUel, &R TS, splcAl, IfsAl s REIG BT 51 TR D HIferd @I o Ace D MR R BruarR fdvar sk

Which of the following test would help to confirm the identity of the victims
forrarferRaa & A fopa1 udlgror A difdar &t usarer &1 gfte 3 Jsrrar feeh ?

[Question ID = 5162][Question Description = S2_qSNz_PG_FRS_Q97]
1. ABO blood group examination/usfsil 3 2w9gg sifa [Option ID = 20645]

2. DNA analysis/gluare faeaswur [Option ID = 20646]

3. Benzidine test/dSSter wdtemr [Option ID = 20647]

4. Acid phosphate test/ofRs wizte udtgmr [Option ID = 20648]

Correct Answer :-
e ABO blood group examination/udlsll b 2wjg sifa [Option ID = 20645]

3) Read the given passage carefully and answer the questions that follow

Many females started disappearing in a particular area of a city. Their families tried to lodge their complaint but the name
was not registered as the police officer on duty did not give any heed to their complaint. After few days, more females
went missing, and finally, the residents of that village went to the higher authorities of the police department.
Subsequently, FIR was lodged. Police started an investigation of this case. since there was no CCTV installed in that area, 10
depended on many quires on eyewitnesses. One of the witnesses stated that he had seen a girl entering this house. He had
taken her there on the pretext of the part-time job but did not see her coming back from the house till the evening of that
day. 10 went to this house, started looking for some evidences. He located few body pieces along with a sharp big knife
(Kitchen Knife) lying in the bathroom which was used exclusively by this servant. The servant was arrested. On further
investigation, many more body parts were recovered from the backyard of this house.

On questioning this servant, he confessed that much more body parts were disposed off in the nearby sump, which was
collected by a team of cleaners under the supervision of investigating agencies and doctors involved in this case. These
body parts were sent for examination. 10 canceled many other items like hairpins, hairbands, rings, bangles, etc from this
house. The owners of this house were also arrested on suspicion.



feu a1u srerion @) eATeIgd® U 3R foreifeiRaa gosil B 3R S ¢

fop3il 9182 @ v fA9Y & fa9y 3 srold Afdeld SIRIA Bloll 9Rs 8l 91 Iold ul¥ardreil of 1ol fAIPRIA g5t w26l I YART v PR 4 Br
B oISl ADBR P FYE UR Tolrd gfert ifarl of Sorchl PIPRIA U= &lel ol fRn - o 6l & are siik oft aifded sIRM 31 o1 sida: 3
aliq @ foraril gferT fasier @ Scaar sfoRiIl @ uri 31u 3R 3A® dIc Ud> U 311$ 3R &5l g5 YfeRT of $1 HIHA I 3iofAelrel 95 o gebl
3 sclid A DI ARMNART o1dl e al srore ygell @ fere sifa siffrorl gfaeRl uz foniz o1 wos smars of sarK & 3l 531 @R 3 v asdl @l 539
I D ollb: B AT SIId SWT AT a8 37 Bl IBIID sllap3l o FaIol TIRIT T Afdbol 3ol IA ISl DI 3A 9N T2 A FaIR 3T oIdl ST &1
Sifar SIfArBISt 33 a7 3 SR 3R 3ol BB AL Acl9l! IF PU I Bad sild FRI YITH 15T Sirol aIcI Jrersd 3 Ud o381 UReR ardgy, (et
SIIE6) 3R IRIR D BB 3°1 BT 3 cll: Bl PRUAR &2 RN SR 3119 1R Sifd & SRIGI 3 IR D fUBars A 9Kk & 3R 3iFT TREIG 3T 3A
Siip? 3 YPAIs @ Sirel 3ol THIDR v 5 9 & iz agd AR 3001 URI @ Ud ofrdl & 31t 918 3, fred sifa weizfl iz 331 amerar & onfdrer
fRifdscard] &b forrRIsh A td ABIE Bl g GRI TG 5 SR 98l @ $o 3ivll @I Sifa @ fe1u 9iSIT s ST IfAIBIE of 33 T2 A 361D 3M6A
aqu, SRl RR e, &R TS, 3ElcAl, ISl G REIG BT 51 TR D HAlferd @I o e D LR R BrRuAR fdvar srRr

To maintain the chain of custody of these samples, arrange the following steps in the CORRECT order
A. Digging out samples

B. Transportation samples to Mal Khana

C. Handing over of samples to 10

D. Collection of samples

E. Handing over of samples to the forensic laboratory

Choose the correct answer from the options given below

ol olgfoll bl MRS B3I D 36T D fere forgsiifdna vl @l A8 B I Jouafderda o3 :
A. 1316l @t S forareren

B. s1goll @I AIeT Aol d Ugol

C. o1goll oI S 3freprl @1 AHlgelr

D. siggil @I sDII Dol

E. 1ol @I ARIeIRice GRIBPINC Bl AHlger

il fou o1 fraseul 3 21 & 3a= goi ¢

[Question ID = 5163][Question Description = S2_qSNz_PG_FRS_Q98]

B, C, D, E [Option ID = 20649]
, D/A, C, E, B, D [Option ID = 20650]

B/A, D, C, E, B [Option ID = 20651]
, E/A, D, C, B, E [Option ID = 20652]

A W N -

)

Correct Answer :-
e A, B,C,D,E/A B, C, D, E[Option ID = 20649]

4) Read the given passage carefully and answer the questions that follow

Many females started disappearing in a particular area of a city. Their families tried to lodge their complaint but the name
was not registered as the police officer on duty did not give any heed to their complaint. After few days, more females
went missing, and finally, the residents of that village went to the higher authorities of the police department.
Subsequently, FIR was lodged. Police started an investigation of this case. since there was no CCTV installed in that area, 10
depended on many quires on eyewitnesses. One of the witnesses stated that he had seen a girl entering this house. He had
taken her there on the pretext of the part-time job but did not see her coming back from the house till the evening of that
day. 10 went to this house, started looking for some evidences. He located few body pieces along with a sharp big knife
(Kitchen Knife) lying in the bathroom which was used exclusively by this servant. The servant was arrested. On further
investigation, many more body parts were recovered from the backyard of this house.

On questioning this servant, he confessed that much more body parts were disposed off in the nearby sump, which was
collected by a team of cleaners under the supervision of investigating agencies and doctors involved in this case. These
body parts were sent for examination. 10 canceled many other items like hairpins, hairbands, rings, bangles, etc from this
house. The owners of this house were also arrested on suspicion.

feu 319 srerion @1 eAroIgd® ug 3z foretfeiRad gosil & 3a2 & ¢

fop21l 98 @ v fa9W & fa9y 3 sroid AfBeIE SR Aol 9 3l 91 oI ul¥ararcl of rueil fAIPRIA Gst w2ol @I gART b= PR d B
B oISl ADR R FIE TR Tolrd Yfert if2raprl of orchl OIPRIA Uz &r6l ol iR o 6ll & are siiR oft aifded sIRM 3 a1 sidd: 3
3liq @ foraril gfert fesier @ Scaar iRl @ Ui 31U 37 3AD 916 Ud U 3M1$ 3R ¢l 68 YfeRT of $1 A I 3fofielel 95 o gebl
3 sed A oIS ARNAR o1dl e Al s gosll @ fere sifa siffrprl gierekil ur fonlk o1 wo srars of aarm & R 531 @R # v asdl &l 59



T D ollb: D AT S SWT AT I8 3 IBI QIBIID olldpsl o F8Iol TIRIT 8T Afdbol 3ol 3A cIshl DI 3 9NAH T3 A F3IR 31 oIdl ST er
Sifer IR 3A &= 3 9RI 3R ol TP AL dAclI9ol F fPT IR Dad olid GRI YIb [T Sifel dlcl dIersd I T 931 8RR A, (vt
SIISH) 3R IR B o 3T fiidl 3 ol Bl PRUAR @2 ferm RN 31191 3i1R Sifa @ SRICI 3A TR D fUFars A 9Bk @ 3 3i°T RIS W 3A
il A YPars @ Siiel 3ol TAPR b o5 98k @& 3iiz agd AR 30T URT & U ofrdl ¥ 31ct a1e 3, Rred Sifa woldl iz s amerar 3 onfdrer
fiftecam! &bl Rl i v ABIE Tl ool GRI TR fa5r srRI 981z @ 3o 3ivll @I Sifa @ foTe IS sRN ST RIGHT o 33 a3 A D 3ioa
a¥qu, SR R e, TR Ts, siolfd, gl scafe e ot 331 ar @ Fufere ol off e @ sneR R BrRUArR s sk

The knife found at the scene has the crucial evidence of
Tl A TRIIG aIdG, ko dAscaguf 1ea &

[Question ID = 5164][Question Description = S2_qSNz_PG_FRS_Q99]
1. Seminal fluid/dkf [Option ID = 20653]

2. Urine/ag [Option ID = 20654]

3. Saliva/em [Option ID = 20655]

4. Fingerprint/3srcft ®ra [Option ID = 20656]

Correct Answer :-
e Seminal fluid/d¥f [Option ID = 20653]

5) Read the given passage carefully and answer the questions that follow

Many females started disappearing in a particular area of a city. Their families tried to lodge their complaint but the name
was not registered as the police officer on duty did not give any heed to their complaint. After few days, more females
went missing, and finally, the residents of that village went to the higher authorities of the police department.
Subsequently, FIR was lodged. Police started an investigation of this case. since there was no CCTV installed in that area, 10
depended on many quires on eyewitnesses. One of the witnesses stated that he had seen a girl entering this house. He had
taken her there on the pretext of the part-time job but did not see her coming back from the house till the evening of that
day. 10 went to this house, started looking for some evidences. He located few body pieces along with a sharp big knife
(Kitchen Knife) lying in the bathroom which was used exclusively by this servant. The servant was arrested. On further
investigation, many more body parts were recovered from the backyard of this house.

On questioning this servant, he confessed that much more body parts were disposed off in the nearby sump, which was
collected by a team of cleaners under the supervision of investigating agencies and doctors involved in this case. These
body parts were sent for examination. 10 canceled many other items like hairpins, hairbands, rings, bangles, etc from this
house. The owners of this house were also arrested on suspicion.

fou a1u srEriorn @) eATegde U 3R foreiiRaa gosil B 3R S ¢

fep3il 9182 @ wop fa9 & fa9 3 srold AfenE SIRIE Bloll 9P 8l 91 Iold> ul¥ardreil of 3ruoil fAIPRIA gst w6l @I gART fvar PR d TIr
DA o8 ADR TRIIfP SYET UR ol GferT IR of ol fOIPRIA UR €21rol ofdl &1 o fColl & a6 3R ol Al SR 3l 318 3idd: 3A
alid @ foraril gferT fasier & scaar siffroRil & uri 31g iR 3A® dIc Ud> Wb 311$ 3R &5l g5 YfCRT of $1 HIHCl I 3iolAelrel 95 foan gl
I s 3 DI ARNAT o181 e al eI Yol & fere Sifa iférerRl yiaeidRl uz fonlz a1 ue sae of adri [ 396 33 82 3 U asdl DI 3370
U3 @ olib: D AT SIKY ST AT I8 IA dal HIDIID oilbst @ dBIel IR oI Aifdsel 3ol IA ISl DI IA I T2 A SR I ofdl ST T
Sifer 3iferprl 331 @R 3 SR 3117 3ol P AL ANl 9> P R Dact il CRI YU fepT Sl arcl d1eRsd 3 U §31 8RGR ardy, (fpdot
SIIE®h) 3R IR @ BB 3°1 B 3 cllp: Bl PRUAR &2 RN SR 3119 1R Sifd & SRRIGI 3 IR @ fUBars A 98k & 31 3iFT SREIG 3T 3A
Gilp2 A guars @ SRie 33dl FAPR R &5 98k & 3ii? agd AR 305T URT & U olrdl 3 SIel 318 3, fred Sifa wslfl iz $1 amerar 3 onfrer
Rifdscaam] & forrIch #d td ABIE Bl ga KGRI TRdIc f5ar sRI 98T @ 3ol 3idhl @Y Sifa @ foTu NS SR ST B of 3 a3 A 6D 3oa
axqu, SR1 &R fUel, &R TS, 3El6Al, IfSAl G REIG BT 57 TR D HIferd @I o A D MR IR BrRUAR fdvar srRr

The age of these victims can be established using which of the following:
A. Dental study

B. Length of sternum

C. Skull sutures

D. Soft tissues

Choose the correct answer from the options given below:

gol HifSarsil & 3Ry o1 uar forotfeiRad YReT GRI cPTRI SIT AT 3 ?
A. Ta 31eRIeT

B. 3R Fi ciard

C. AU & Ja=

D. 3g 3ax

offa fou s1u fRyeseul 3 21 & 3a= goi ¢



[Question ID = 5165][Question Description = S2_qSNz_PG_FRS_Q100]

. Band D only/@aer B siiz D [Option ID = 20657]
. A and B only/dact A sfiz B [Option ID = 20658]
. Aand C only/d@aet A siiz C [Option ID = 20659]
. Cand D only/aaet C siiz D [Option ID = 20660]

A WN -

Correct Answer :-
e B and D only/aaa B sfiz D [Option ID = 20657]





